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/ith regard to the Census Report 2011 on Languages, which amongst the following is an incorrect fact :

1. Unique number of the mother tongues returned at Raw level : 19569

2. Total number of Rationalized mother tongues : 1369

3. Total number of languages with a speaker strength of 10,000 or more : 121
4. Total number of languages : 1652

1

(2 2

(3) 3

(4) 4

HTNTA] OR TR SHUET U 2011 & Yed § FRfaRad d 9 A AT dd Tad 6 2

1. 3ORhd TR IR ATGHINT H 3R & arall i faf2ry dm - 19569
2. TG HIGHTITSAT Bl Hel TAT - 1369
3. 10000 TT 3T 31feI AT gIRT dicl STdTell HTSTSM Bl ot TEAT : 121
4. HINTT 1 Hol TS : 1652
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=17501]
2[Option ID=17502]
3[Option ID=17503]
4[Option ID=17504]
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According to “design features”, the system of animal communication is different from human language because

1. Animals do not think like humans.
2. Human language is generative and infinite.
3. Animal communication system is imitative.
4. Human language changes over a period of time.
1) 1
(2) 2
(3) 3
(4) 4

TSTIE B’ & TR, U=] YUY B Ggid AT 1S 9 1375 ¢ aiid -

1. G AI-Al i oRE el didd §

2. AHATT HINT Yol U 3MafRfid gidt 8
3. TS TUYOT GGl SRR gl &
4. AT YN 99T & 91y gRafdd gidl @

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17505]
2[Option ID=17506]

3[Option ID=17507]
4[Option ID=17508]
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*Arbitrariness’ means

1. There is inherent connection between form and its meaning.

There is a personal connection between form and its meaning.

There is no inherent connection between form and its meaning.

4. There 1s always a transparent connection between form and its meaning.

2.
3

1) 1
(2) 2
(3) 3
(4) 4

Urefwsdhdr Y A g :

1. ¥ g 39 3 & A eidfHigd Yy glaT g

2. ¥9 U4 5P 2 & A2 dufaqs deu gidl §

3. %9 Ud 39 3 & A7 3fdfifed UdY gl gidl o
4. ¥9 U4 346 Y & 7 Ydd YRS e gldl &
@ 2

(3) 3

(4) 4

1[Option ID=17509]
2[Option ID=17510]
3[Option ID=17511]
4[Option ID=17512]
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In order to study the relationships of different entities as expressed in a text., we need to do the following level of
linguistic analysis.

1. phonological analysis

2. morphological analysis
3. phonetic analysis
4. syntactic analysis

1) 1

() 2

(3) 3

(4) 4

et ute | sif¥adforg fafis Il & deei o1 3ieag o & forg, g6 Fgfefad e axnfae fawayor TR
@ SfUICH DI HTWDH Bl © :

1. WS [qgeyu

2. TUTHSD [aZdyoT

3. W% fazayo

VG| G2 GRS CAGPG R

(1)1
) 2
(3) 3
(4) 4

1[Option ID=17513]
2[Option ID=17514]
3[Option ID=17515]
4[Option ID=17516]
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Sounds produced with a complete closure of vocal tract and characterized acoustically by a silence are

. Noncontinuants
. Consonantals

. Confinuants

. Approximants
11

(2) 2

(3) 3

4 4

a9 & Y01 GaR I I Ud HIF gRI @6 w9 9 wifad af g

e b =

I
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(1)1
) 2
(3) 3
(4) 4
1[Option ID=17517]
2[Option ID=17518]

3[Option ID=17519]
4[Option ID=17520]
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The idea that different human cognitive abilities and behaviours are localized in specific part of the brain was
first proposed by

. Franz Gall

. Paul Broca

. Steven Pinker

. Noam Chomsky
1) 1

() 2

(3) 3

4) 4
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fafra e SIeTd & vd sfagR Afkrss & AR vl § wiied €, 39 faar &1 wduyd faa
T febar 4m

1. Tl T
2. UTd §lidbT
3. ©ad [UaHe
4. A9 91D
(1)1
(2) 2
(3) 3
4) 4
1[Option ID=17521]
2[Option ID=17522]

3[Option ID=17523]
4[Option ID=17524]
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Which of the following are interdental fricatives?

s]and[z]
j ] and [

B]and[ ]
T(land[d]

"._)JE‘Jb—«
————

_3:.

1) 1
(2) 2
3) 3
(4) 4

fafoiad o 9 siqda usff e 9 &2

[s]R[z]
E

[0]3R[ 7 ]
[t19R[d]

L R

=

1) 1
) 2
3) 3
(4) 4
1[Option ID=17525]
2[Option ID=17526]

3[Option ID=17527]
4[Option ID=17528]
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Which one of the following is an example of secondary articulation?

. Lateralization
Labialization
. Fortition
Lenition

W I =

e

1) 1
(2) 2
(3) 3
(4) 4

fFgfafaa ¥ 3 fedias IER (Y8 IR &1 30 AL 2

1. Trsffeo
2. IS
3. TP
4. Ffarciie o
1) 1
() 2
(3) 3
4) 4

1[Option ID=17529]
2[Option ID=17530]
3[Option ID=17531]
4[Option ID=17532]
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Identify the author of the classic book titled ‘The Generative Lexicon’.

. Steven Pinker

. Peter Matthews

. James Pustejovsky
Eugene Nida

LS I S I

=

@) 1
(2) 2




3) 3
4) 4

G SIFRICT dfayei iTNe dTell aTiie Y&id & ddd &l Ugdl-g :

1[Option ID=17533]
2[Option ID=17534]
3[Option ID=17535]
4[Option ID=17536]
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Wackerangel clitics appear after the first element of the (simple) sentences, which serves as the host. It is also
called

1. Second-position clitics
2. first-position clitics
3. simple clitics

4. enclitic

)1

(2 2

(3) 3

(4) 4

dahR-oidl gad (IR IRl & UYH 3add & 916 ATd 6, Sl [ HAd () & &Y H &1 a3l ¢, 39 39
SURIRNETIE T R

1. T =M OR Rd g
2. Uy R W A g

3. TR gad
4, X9 fagH
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17537]
2[Option ID=17538]
3[Option ID=17539]
4[Option ID=17540]
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The criterion of ‘obligatoriness’ to characterize inflection is proposed by

. Gruber, I.S.

. Gleason, H.A.

. Hyman, L.M.

. Greenberg, J.H.
() 1

() 2

(3) 3

(4) 4

W I =

=




faufad & fzror & fau <sifHardar &1 amds faa- uwdifad faar 2

1. JeiX, S04
e, e

4. Y&, S Eg.

11
(2) 2
(3) 3
(4) 4

W b

1[Option ID=17541]
2[Option ID=17542]
3[Option ID=17543]
4[Option ID=17544]
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The seminal research article titled ‘Two models of grammatical description’ is written by

1. Charles F. Hockett
2. Kibbey M. Horae
3. Greville G. Corbett
4. Joan L. Bybee
1

) 2

(3) 3

4) 4

“HTDHRI0ID G & &l YA (¢ Alscd 31 UHfchd Sikep =) i Hiferd Qe sfieid Fafeiad § °
fepa feran 2

1. 9T U, glde
2. fHaTH. B8R
3. Ufdd Sit. Ppide
4. SII3{H U, drgdl
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17545]
2[Option ID=17546]
3[Option ID=17547]
4[Option ID=17548]
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Which of the following books was NOT authored by Noam Chomsky?

. Syntactic structures
. Aspects of the theory of syntax
. Lectures on Government and Binding Theory

4. Language and Brain

(1)1
) 2
(3) 3
(4) 4

afaRad @ U fg Qe & 10 Heh] gRT Ag) [kl T/ 6 2

1. = ldes waad

2. T 316 & TRT 3HTH Rida

3. Wae 3 TaiHe US dgfei Rl
4. WS UUS 51

1
2
3




(1) 1
2) 2
3) 3
(4) 4
1[Option ID=17549]
2[Option ID=17550]

3[Option ID=17551]
4[Option ID=17552]
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In the examples

A. Bresnan criticized Chomsky
B. Bresnan’s criticism of Chomsky

Which of the following phenomena correctly describes the change from (A) to (B).

1. Scrambling

2. Nominalization
3. Displacement
4. Embedding

1) 1

(2) 2

(3) 3

(4) 4

29 3aeul §
A. ST H JIHH 1 B STl Bl
B. dIH¥1 &l §9-- & gRI I 1T AT

fafaRad # 9 SF-91 aR=e1 (A) T (B) dP & TRddd I el o1 9§ divld Hdl g2

AHH IS
RGRIBE
4. YIS
1) 1
(2) 2
(3) 3
4) 4

L O

1[Option ID=17553]
2[Option ID=17554]
3[Option ID=17555]
4[Option ID=17556]
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Kurux, a language primarily spoken in the state of Jharkhand belongs to which family?

1. Indo Aryan
2. Austro Asiatic
3. Dravidian
4. Tibeto-Burman
11
(2) 2
(3) 3
4 4




Y Y YRYUS Iy H dicl] SHdrel 48T oo Hyifdd fg 4 uRar 9 defdd e 2

1. YR 21
wlds

4. fasacil-aHf
@ 2
3) 3
(4) 4

W b

1[Option ID=17557]
2[Option ID=17558]
3[Option ID=17559]
4[Option ID=17560]
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In the construction
Chris told Lee [Kim couldn’t swim]
the sentence in the brackets is an example of

. embedding

. scrambling

. binding

. nominalization

1) 1

(2) 2

(3) 3

4) 4

fooT 9 ol 1 admrn (fbd o= el Ihdn) d

HIg® A a1 T Ay Hgifed H [haw! 38180 g2

LV S

.

1. 3TYD
2. SRPIETDRI
3. e
4. AITHBTHI0T
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17561]
2[Option ID=17562]

3[Option ID=17563]
4[Option ID=17564]
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Which one of the following examples is true about entailment?

1. 'Hari sings beautifully' entails Hari sings'
2. 'Harl sings' entails Hari sings beautifully’
3. 'Hari is a devotee' entails 'Hari sings'.
4. 'Hari sings beautifully' entails 'Hari is a devotee'.
1) 1
2) 2
3) 3
(4) 4




Ul & aR H FyfaRad $H-47 3eEu gl g 2

. 'Hari sings beautifully' 3fJcid ®dl ¢ 'Hari sings'

. 'Hari sings' 3{-Jcfd ddl % 'Hari sings beautifully’

. 'Hari is a devotee' 3H{-Jcfd ddl © Hari sings'.

. 'Hari sings beautifully' 3fJcid Pl € 'Hari is a devotee'.

L

-

(1)
(2)
(3)
(4)

d W N =

1[Option ID=17565]
2[Option ID=17566]
3[Option ID=17567]
4[Option ID=17568]
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Who among the following poeticians is considered to be the first major exponent of verbal symbolism (dhvani)
in Sanskrit poetics?

1. Bhamaha
2. Kuntaka
3. Abhinavagupta
4. Anandavardhana
1) 1
(2) 2
3) 3
4) 4

FafaRad 4 U 1o AR & BI-8 =R Y d BIARIRA H @i b YT Y Yddd HIH Sild g 2

1. HHg
2. dd
3. AT
4. STGasH
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17569]
2[Option ID=17570]

3[Option ID=17571]
4[Option ID=17572]
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The sentence “Walls have ears” is an example of which one of the following?

. Entailment

. Metaphor

. Metonymy

. Lexical ambiguity
11

(2) 2

(3) 3

4) 4

«dgRI & B gId 7 - T8 aray FFufalRad & I fogs I g 2

L. 3{geTddl

2. 4dh

3. Y&

4. QMTedeh SRYFAl

b I =

o




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17573]
2[Option ID=17574]

3[Option ID=17575]
4[Option ID=17576]
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Which one of the statements best expresses the Thematic roles?

1. it expresses the kind of relation that holds between the arguments of the verb and type of state that verb
describes.

. the relationship between the principal clause and subordinate clause.

. the relationship that holds between word and meaning.

. 1t expresses the kind of relationship that holds between speaker and listener.

1) 1

() 2

(3) 3

(4) 4

AT H W &I 1 S P YD1 Bl GalaH aeid U Mo Bl g 2

1. 8 SUUPR & GF Dl ffYagad H3dl g ol fhdl & dobi 3R fobal gRT aftld 3/a®i & YR & Je
gl

2. U 39aTa 3R MT3d 3Uaed & 19 &1 T

3. g 3R 31 & oI T T

4. 98 U UPR & T Bl 3Afegad Hdl g ofl 9adl 3R 4id & did gidl o

1)1
(2) 2
(3) 3
(4) 4

de e b

1[Option ID=17577]
2[Option ID=17578]
3[Option ID=17579]
4[Option ID=17580]

Sl. No.21
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Pidgin is

1. a kind of migratory bird
2. a dialect used in north Japan
3. a language used by endangered speech communities
4. a speech form which is mother language of none
1) 1
) 2
(3) 3
(4) 4

IESENEECRIEDE

1. Uarl uell b1 U UPR B |
2. IR ST H WIRT 1 ST dTefl diedl g
3. UheIud alp JHERI gRT YN 1 S dreil 1IN 5|
4. HINT I dg U Sl [ddt Bl HIGHIT gl ¢
o 2
(3) 3
4) 4

1[Option ID=17581]
2[Option ID=17582]




3[Option ID=17583]
4[Option ID=17584]
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‘What is a ‘relic area’ ?

. An area at the center of a village

. An area where migrated people live

. An area isolated from other Linguistic areas by some natural barriers
. An area where people from several linguistic areas come and live

b b =

=

(1)1
) 2
(3) 3
(4) 4

W%W%~

1. Ti1d & A BT &4

2. U7 &7 ST Yarfl |l 38d ©

3. U1 &1 ST S U fcieh faRIYT §RT 3= HIW & ¥ e dl Sfa gl
4. 091 &3 WIg] faf¥el {71 & &b i 3HThR §d g |

(1) 1
2) 2
3) 3
(4) 4
1[Option ID=17585]
2[Option ID=17586]

3[Option ID=17587]
4[Option ID=17588]
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Which one of the followings is NOT a lexical borrowing?

. Loan translation

. Cultural borrowing
. Loan blends

. Loan words

1

) 2

3) 3

4) 4

fFfaRad § 9 S F-91 Aifsed A T8l & -

3T 34T
. AP D HIGH
. ST THY U

HATd Qe
(1) 1
(2) 2
(3) 3
(4) 4

W I =

=

—

N PN R S ]

1[Option ID=17589]
2[Option ID=17590]
3[Option ID=17591]
4[Option ID=17592]
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Analogical creations are :

. socio-cultural observations
. phonetically motivated

. to regularize the paradigm
. make a paradigm irregular
1) 1

) 2

3) 3

(4) 4

ARHAD Yol g :

b D =

B

1. HTHITS-Hip i Hafor

2. AT HfHURT

3. UfcR=g &l fafgiHd &
4. 9fa=Yg I SHHTHT ST

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17593]
2[Option ID=17594]

3[Option ID=17595]
4[Option ID=17596]
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decade is declared as the Decade of Indigenous languages.

1.2018 — 2028
2.2022 — 2032
3. 20192029
4.2020-2030

1 1

() 2

(3) 3

4 4

FafaRad # O &F I U@ <3 YN 56 & ¥ | UiNd fearmarg 2

1.2018 — 2028
2.2022 - 2032
3.2019-2029
4.2020-2030

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=17597]
2[Option ID=17598]
3[Option ID=17599]
4[Option ID=17600]

Sl. No.26
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is a form of self-narrative that places the self within the social context.

1. Ethnology
2. Autoethnography
3. Autoethnology
4. Ethnography

1) 1

(2 2

(3) 3




(4) 4

AMHADBYT BT UFH ¥ ¢ oIl W I TS Jey A 3adrg

I SIGICEIE]
 gidataquid (sfieiuy=iumet)

.
3. gfcrgorta {9 (stieTeyIaisi)
4. TJSTIdauH

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=17601]
2[Option ID=17602]
3[Option ID=17603]
4[Option ID=17604]
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The proponent of interactional sociolinguistics is

. David Crystal
John J. Gumperg
Einar Haugen

. Joshua A. Fishman
)1

(2) 2

(3) 3

(4) 4

3d:feh TS TS HINIEF & WOl ¢ -

1. Sfas foheed
2. SIS, TS

3. FREEA
4. SIS U, {herAT
1) 1
(2) 2
(3) 3
(4) 4

W I =

=

1[Option ID=17605]
2[Option ID=17606]
3[Option ID=17607]
4[Option ID=17608]
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Identity the odd one out :

Hindi/Urdu
Swedish/Danish
Serbian/Croatian
. Telugu/Odia

1) 1

(2 2

(3) 3

4) 4

W I =

=

L=

JHd DI UgdH Dol ;

2. WifSR/SH
3. gidg/pIeRrE




(1)1
) 2
(3) 3
(4) 4
1[Option ID=17609]
2[Option ID=17610]

3[Option ID=17611]
4[Option ID=17612]
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The language used in media has :

. congnitive and linguistic function

. stylistic and informative function

. political and cultural function

. linguistic and extralinguistic function

W I =

=

(1)1
) 2
3) 3
(4) 4

Hifsar & ugad MM H I B -

1. UFHEIAD U1 HINTS YD
2. QAT GUT YD Jahrd
3. ofde Tl Hikpidd Ubrd
4. HTNTS T YNGR Wb
1) 1
() 2
3) 3
4) 4

1[Option ID=17613]
2[Option ID=17614]
3[Option ID=17615]
4[Option ID=17616]
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Which amongst the following projects/works deals with creating parallel sentence corpora for India's languages
including English ?

1. Mother Tongue Survey of India

2. Indian Languages Corpora Initiative

3. Scheme for Protection and Preservation of Endangered Languages
. People’s Survey of India

1) 1

(2) 2

(3) 3

(4) 4

fafeRad aRasrreiaml § O ®F s afgd YR Hiwrelf # THMIGR HRURT AT 9 d6fid g 2

1. HIRCIR HTGHTNT Hd&f07

2. HRATIHTNT SHIRURT HI&01

3. GadheTud HTYISHT DT G&UT Ud TIRRE0] TS
4, YR oI Tdeu

1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=17617]
2[Option ID=17618]
3[Option ID=17619]
4[Option ID=17620]
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In the sentence "India is a multilingual country”, the relationship between "India" and "is a multilingual country"
can be described as -

1. Syntagmatic relation
2. Paradigmatic relation
3. Synthetic relation

4. Distributional relation
)1

(2 2

(3) 3

(4) 4

IR "HRA TP dgHINE &= g" H, "HRA" 3R "Udh dgHIN® ¢RI §" & Hed Hae &l [FaieiRad wu 9 aftiq
fobdT ofl Wbl g -

1. AT HIES Tdy
2. BUTHD Ha¢
3. YYAYTHSD da e
4. f[AeRUITHS Ge4
1) 1
(2) 2
(3) 3
4) 4

3

1[Option ID=17621]
2[Option ID=17622]
3[Option ID=17623]
4[Option ID=17624]
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Which amongst the following statements is NOT true about the features of universal grammar?

1. Universals have no exceptions
2. Universals are process independant
3. Universals can be manifested in “emergence of the unmarked” effect
4. Universals can also be considered as typological generalizations
1
(2 2
(3) 3
(4) 4

UGHH STHR0 &f f[axmarefl & de § Fgfafad Ui § T &F I 98! T61 o2

1. Qa4 § 3aTe Tei oid o

2. Y Wda U 9 G9qiId gid g

3. raHMHEl Pl <3ifdfegd & fayia gyE d e (G415 9&hdl
4. TEYH B T ITHD THRH & 9 H 1t AF1 ST 9&dl &

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=17625]
2[Option ID=17626]
3[Option ID=17627]
4[Option ID=17628]

Sl. No.33
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In language acquisition process, the stage wherein children produce utterances with omitted grammatical
morphemes and/or function words is stage.

1. Babbling

2. Holophrastic
3. Grammatical
4. Telegraphic
11

2 2

(3) 3

4 4

TSI ek 3, 9 (ot o s= faqed caniores wiudt 3iR/ar o Wsal & iy Sfedl &1
JHARU B €, 98 HEalldl 6 :

IRCENIG
2. AIFTHD
3, AHR[U[EH
4. TS

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=17629]
2[Option ID=17630]
3[Option ID=17631]
4[Option ID=17632]
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The language disorder usually resulting from damage to Broca’s region in which the patient has difficulty with
certain aspects of syntax, especially functional categories. is

1. Apraxia
2. Agrammatism
3. Anomia

4. Amnesia
1) 1
() 2
(3) 3
(4) 4

WIS faefa Tmm=ia: siet &7 # affd & aRomiasy gidl ¢ o a3 &1 arqafa-ary § S84 gt 8,
D! (A=Y YD Hifc FEaRId d 9 HH Al g 2

1. I 3f&H (Qﬁb‘ﬁim
2. THRUMAHR (TIHESH)
3. A¥ S AR (TAITHAD
4. FfadT (AR

(1)1

(2) 2

(3) 3

) 4

1[Option ID=17633]
2[Option ID=17634]
3[Option ID=17635]
4[Option ID=17636]
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The speech disorder in which sound, syllable or words are repeated or prolonged disrupting normal flow of
speech is

1. Dyslexia
2. Language Delay
3. Stuttering
4. Dysgraphia
)1
(2 2
(3) 3
(4) 4

a‘a'amprﬁ(%ﬁlﬂﬂ tq[T, 3{&R AT Xsal DI G-RIGRI BIdl ¢ AT a1 b ATHIRI Walg H &Y S{aRie §idl ¢, a8
dgdldl e :

1. 33 (FSwifaeam)

2. YT fadie (dast faq)
3. gdhdlgc ()

4. WA d e (fegwftean)

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=17637]
2[Option ID=17638]
3[Option ID=17639]
4[Option ID=17640]
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A patient with brain damage displays fluent speech with good intonation and largely adheres to rules of syntax
but the language is semantically incomprehensible. The patient suffers from ?

1. Broca’s Aphasia
2. Wernicke’s Aphasia
3. Agrammatism
4. Apraxia
(1
(2 2
(3) 3
(4) 4

AT & Tl U ARIS 0H AT ¥ gad UaIgHI aTull diedl ¢ SR areaid-urg o =144 &1 s
IR TR Ul Bl & fob=d bl {11 Wsareld: el g | A afciRdd # 9 by fdpR A 4z g 2

1. SlihT HISTHTd
2. g HINTITd
3. AT [dBR
4. DT 3H&H

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=17641]
2[Option ID=17642]

3[Option ID=17643]
4[Option ID=17644]

Sl. No.37
QBID:131037




The art and craft of compiling a dictionary for a language is called :

. Lexicology

. Grammar writing
. Lexicography

. Lexicostatistics
1) 1

(2 2

3) 3

(4) 4

fdt U & Wse I Hha- Bl Sl Ud FAed &I 91 dHgl 9Idl g 2

1. eI fag=
2. B[ TG
3, Qe g fFAfor
4. Yee-GifETdt

1) 1

(2) 2

3) 3

4) 4

W I =

=

1[Option ID=17645]
2[Option ID=17646]
3[Option ID=17647]
4[Option ID=17648]

Sl. No.38
QBID:131038

Rendering information from one language text to another language text without loss or addition of meaning is
known as -

. Transcreation
. Translation

. Transcription

. Transliteration
1) 1

(2) 2

(3) 3

4 4

312 & |9 T U & (691 Th HIYT - U738 Y gER1 HIYI-U13 H Y1 1 H1e- deardl e ;

A ,

. 3T (HTYIcR)
ARG
forgarur

L R R

.

b b =

3=

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=17649]
2[Option ID=17650]

3[Option ID=17651]
4[Option ID=17652]

Sl. No.39
QBID:131039

In the phrase “very bright sunflowers™ which word or group of words can be marked as the head?

1. very bright
2. bright sunflowers
3. sunflowers
4. very
1




) 2
3) 3
(4) 4

“very I:{right sunflowers” IR H {6 Yeq Bl YAl Usa| &b qHe CARLIE] {Qﬂﬂc] $HEUH N %EI [ERIRS
ghdl g ?

. very bright

. bright sunflowers
. sunflowers

. very

1) 1

(2) 2

(3) 3

(4) 4

s b =

B

1[Option ID=17653]
2[Option ID=17654]
3[Option ID=17655]
4[Option ID=17656]

Sl. No.40
QBID:131040

In Sanskrit grammatical tradition, the technical terms used for POS categories are

1. nama, kriya, visesana, nipata

2. nama, akhyata, upasarga, nipata

3. sarvanama, kriyapada, upasarga, nipata
. nama, akhyata, kriya, nipata

1) 1

(2 2

(3) 3

(4) 4

I AR TRT H, Ui 311 T Hife & g wga arivviiNG oes ¢ -

2. TH, 3{R=ATd, U, fAard
3. 4™, fsharge, I, [Hurd
4. T, 3RaTd, fobar, fFara

1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=17657]
2[Option ID=17658]
3[Option ID=17659]
4[Option ID=17660]

Sl. No.41
QBID:131041

C. Ferguson’s ‘Diglossia’ argues for the presence of the following two varieties :

A. High

B. Medium
C. Standard
D. Formal
E. Low

Choose the most appropriate answer from the options given below :

1. C and D only
2. Aand E only
3. B and C only
4.D and E only




(1) 1
(2) 2
(3) 3
(4) 4

1. BREA BT HIVT-gd FIRad & YR &1 JURTd &1 ddb Udd Bl o :

A.3d

B. HH
C. 9HH
D. EUIHSD
E. 9

i< faU 71U A el § O Ul 3R &l 99 BIfu|

1.$5dd C 3R D
2. Hdd A3RE
3. Hadd B 3R C
4. Pqd D 3R E

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=17661]

2[Option ID=17662]

3[Option ID=17663]
4[Option ID=17664]

Sl. No.42
QBID:131042

Two of the important design features, as proposed by C.F. Hockett, include :

A. Displacement
B. Continuity

C. Circularity
D. Rapid fading
E. Generativity

Choose the correct answer from the options given below :

. Aand E only
.Aand D only
.Band C only
. C and E only
1) 1
(2) 2
3) 3
(4) 4

W I =

=




1. U glebe g1 Wdlidd Heodqul feeira (3if¥een) faRivdisi # 9 f5r <1 &1 2ifird far Siidi @ -

A. fa@imge

B. ARzl

C. Iehigdl

D. gd &7 9 gl
E. 3dTadhdl

< f4U 71U A el § O Ul 3R &1 99 Hifu|

1. FadA 3R E
2. Had A 3R D
3. HFadB 3R C
4. $aAC AR E

1) 1
2) 2
3) 3
4) 4
1[Option ID=17665]
2[Option ID=17666]

3[Option ID=17667]
4[Option ID=17668]

Sl. No.43
QBID:131043

The phonological processes where the loss of segment and/or syllable happens in speech are known as :

A. Procope

B. Apocope

C. Devoicing
D. Dissimilation

Choose the most appropriate answer from the options given below :

1. Aand D only
2. B and E only
3. C and D only
4. B and C only

1) 1
(2) 2
(3) 3
(4) 4

Gt uishant forgd G siR/ar 3i&R 1 &fd gl &, 98 Peari g ;

A. TadioA

B. Uih[Yg

C. 3ddg (TUIHhI)
D. g0

E. faudidur

HId fau T fadhedl H 9 ol 30k &l 904 DIfoU|

1. Fad A 3MRD
2. HAAB AR E
3. Had C 3R D
4. FdAB IR C

@) 1
() 2




3) 3
(4) 4

1[Option ID=17669]
2[Option ID=17670]
3[Option ID=17671]
4[Option ID=17672]

Sl. No.44
QBID:131044

Click consonants which are found in the languages of South Africa are following in nature

A. Ingressive
B. Egressive
C. Velaric

D. Glottalic
E. Uvular

Choose the correct answer from the options given below :

1. Aand C only
2. Aand B only
3. C and D only
4.D and E only

1) 1

() 2

(3) 3

(4) 4

GIAT0T Siypliest HINTSHT § UTT S dTd fates oot iiferd H 9 fobg Upfd & gid 62

A, St
B. AT
C. Jgaras
D. 4RI
E. JAfafSgr

=i faU T fadh el § U Ugl 3R &l 994 Difoie|

1. Pad AR C
2. Hdd A 3R B
3. Hdd C AR D
4. P9dD 3R E

@ 1

() 2

(3) 3

4) 4

1[Option ID=17673]
2[Option ID=17674]
3[Option ID=17675]
4[Option ID=17676]

Sl. No.45
QBID:131045




Some speakers pronounce some words differently. Which ones of the following are examples of Metathesis?

A. school — sakool
B. film — filam

C. risk — riks

D. matlab — matbal
E. ask — aks

Choose the correct answer from the options given below :

.Aand C only
.A.Band C only
. Aand B only
.C,D and E only

1)1
(2) 2
(3) 3
4) 4

$O a9 O WUsal DI 1 ©U H FJ=Rd HRd ¢ | HfiRad # W o1 ¥ qui-faudy & Iarev g2

A. school — sakool (Xl — Hp o)
B. film — filam (ITI'?QH — IThL'iJ-I}

C. risk — riks (R¥p — X&)
D. matlab — matbal (Hddd — Hdd)
E. ask — aks (311%h — 3{[&)

T faU ¢ A el | 9 Ul 3R &l 99 Bifu|

1. Fad A 3R C
2. FAd A, B3R C
3. %Hdd A 3R B
4. $9d C, D3R E

1) 1
(2) 2
(3) 3
(4) 4

LS I o B

=

1[Option ID=17677]
2[Option ID=17678]
3[Option ID=17679]
4[Option ID=17680]

Sl. No.46
QBID:131046

The two main processes of morphology are :

A. Complementation
B. Inflection

C. Rule ordering

D. Nominalization
E. Derivation

Choose the correct answer from the options given below :

1. Aand C only
2. B and C only
3. Aand D only
4.B and E only

1) 1

() 2

(3 3




< faU ¢ A el | 9 Ul 3R &l 99 Bifu|

1. Fad A 3R C
2. HAAB AR C
3. Had A 3R D
4. $dAB 3R E

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17681]
2[Option ID=17682]

3[Option ID=17683]
4[Option ID=17684]

Sl. No.47
QBID:131047

The ‘Basic Colour Terms’ theory is proposed by

I. Fishman

B. Berlin

D. Hymes

P. Kay

L. Bloomfield

mo 0w

=

Choose the correct answer from the options given below :

.Aand C only
.Band D only
.C and E only
. C and D only

1)1
(2) 2
(3) 3
(4) 4

S® R e/’ Rigid foa= arfad faan

o, e
of. qfel

Sl gT3H
9. &

Tl STADIE
i fau 71U fah eyl § 9 gl 3R &l 99 Difol|

1. Fad A 3R C
2. HAAB 3R D
3.%Hdd C 3R E
4. $adC 3R D

s o —

Mo owe




(1) 1
2) 2
3) 3
(4) 4
1[Option ID=17685]
2[Option ID=17686]

3[Option ID=17687]
4[Option ID=17688]

Sl. No.48
QBID:131048

In which of the following distinct ways, a set can be specified ?

A. by listing all its members

B. by stating a property which an object must qualify as a member
C. by defining a set of rules which generates its members

D. by automatically deleting items from a list

Choose the correct answer from the options given below :

1.A.B.D only
2. A, B, Conly
3.B.Donly

4.A,C,Donly

1) 1
(2) 2
(3) 3
(4) 4

Fafarad # 9 foo1 gy alie 4 fodll = o1 {92y U d Iwoid (g1 5 Gl 3 -

A. 39 g ge @l B gl § 1

B. fordl 1701 1 9ffd PHReb [T DI YR HRb Y& G4
C. FraHi &1 gRYITNT 6, S Y&l Bl - 1U]

D. fo it It ¥ T@d: Ael Dl geTH

HId TaUu T fadh el H I ol 3R &l 994 DU |

1.$dd A.B.D
2. HAd A, B, C
3. $dd B, D

4. bdd A, C.D

1 1
) 2
(3) 3
(4) 4

1[Option ID=17689]
2[Option ID=17690]
3[Option ID=17691]
4[Option ID=17692]

Sl. No.49
QBID:131049




A grammar in Chomsky Hierarchy has the following production mechanism :
A—xBorA—x
Which of the following grammar types do not explain this?

A Typel
B. Type 2
C. Type 3
D. Type 0

Choose the correct answer from the options given below :

A, Bonly

A, B.D only
B, C, D only
A, C,D only

1.
2.
3.
4,
(1) 1
(2) 2

3) 3
(4) 4

A% 3HHY H ATH0 HERd ST dT A — xB orA — x UAT AT & -
FUfARId § I S H-91 U160 UYHR 9P| AT Ja] Bl 62

A UYPR 1
B. UPR 2
C. YPR 3
D. PR 0

T fau U faedi & O Ug! IR &1 994 HifSu|

1. %hdd A, B

2. $dd A, B.D
3.$dd B, C.D
4. hdd A, C,D

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=17693]
2[Option ID=17694]
3[Option ID=17695]
4[Option ID=17696]

Sl. No.50
QBID:131050

In set theoretic terms, a function is generally NOT represented as a special kind of

A. Relation
B. Element
C. Item

D. Term

Choose the correct answer from the options given below :

1. A, B only
2. A,B,Conly
3.B,C, D only
4.B,D only




3) 3
(4) 4

qH=R YGiTdd Ug! H, Dig bR Arrda: Fieiad H ¥ fdyd [y YR & U H Udd ol gldl 67

A. Tay (Raw)
B. ddd (TTHT)

C. HE (3MgcH)

D. U5 (TH)

Hid fau T fadhedi | I ol 3R &l 904 DIy |

1. dd A, B
2. Hdd A, B, C
3. ®dd B, C,D
4.%dd B, D

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=17697]
2[Option ID=17698]
3[Option ID=17699]
4[Option ID=17700]

Sl. No.51
QBID:131051

Which of these statements are true about the Speech Act theory?

A. It tells us that people use language to express emotions and ideas only.
B. It tells us that people use language to do things as well.

C. Verbs relating to “do things™ are called performative verbs.

D. Verbs relating to “do things™ are called illocutionary force.

E. In the case of performative verbs the illocutionary force is stated overtly.

Choose the correct answer from the options given below :

1. A, B and C only
2.C,Dand E only
3.B, Cand D only
4.B, C and E only

1) 1

(2 2

3 3

(@) 4

314 A BI-Y HY dip-ATYR Rl &b IR H 9gl 82

A. 399 gH Udl Il ¢ fob AT HIST 1 WIRT dhad 3T+ HIaT3H Ud fadR] 1 e 31 6 Hd o |
B. 3UH &4 UdT 9ddl & b AT Bl &l S H ot HINT &l I Hedl 6

C. P Bl B T GafAd fopart FaregasR) fhan sgardl gl

D. “BMl Pl B Y el foha ad-aR fki Fol Sl ¢l

E. FMYeasR] bl & Yed § a9+ aR Uidd Ydhe TU H el olldl g

=T fau U A el § O Ug! IR &1 994 BifSu|

1. T A, B3ARC
2. %dd C,D 3R E
3. $Had B, C 3R D
4. FadB, C ARE




1)1
(2) 2
3) 3
(4) 4
1[Option ID=17701]
2[Option ID=17702]

3[Option ID=17703]
4[Option ID=17704]

Sl. No.52
QBID:131052

Amarakoéa - a 41 CE work of lexicography organizes words on the basis of

A. POS categories

B. Semantic classes

C. Morho-syntactic categories
D. Synonymy

Choose the correct answer from the options given below :

.B.Donly
. A, B only
. B, C only
. A, D only

1 1
(2) 2
3) 3
(4) 4

eaeh IR (AT OR =12l el &1 U Y "SRRI (HiTdh TR UR RIsgl I d¥ffdhd Rl g -

A. T 3ff Ty Pifear

B. Ysad [Ava®-ai

C. TU-aAHTHD Bifedr
D. GHFESI

HId fau T fadhedl | I ol 3R &l 904 DIy |

1. %dd B, D
2. hdd A, B
3, Hdd B, C
4. bdd A, D

(1) 1
(2) 2
(3) 3
(4) 4

2 D

e

1[Option ID=17705]
2[Option ID=17706]
3[Option ID=17707]
4[Option ID=17708]

Sl. No.53
QBID:131053




The Middle English word ‘dogge’ referred to a specific breed of dog, but eventually refers to all members of the
species 'Canis familiaris'. Which of the following do not account for this phenomena ?

A. Meaning shift
B. Broadening
C. Extension

D. Narrowing

Choose the correct answer from the options given below :

1. A, Bonly
2.B.Donly
3.B,Conly
4.A.C.Donly

1)1
(2) 2
(3) 3
4) 4

A 3SH WsE M (dogge) Pl bl U (ATAY FoTTld Bl Haled Sl A1, fobq 2ldd: b iR
gl & G gawdl O weled ¢ | afciRad # & @I dl uibe 39 gq el Ae! g2

A. 3 RIFIRYT (@i Rrge)
ERCESINERUNCIEIGH)

C. faaHIeRT (Taeem)

D. &I (RIS

T faU ¢ A el | 9 Ul 3R &l 99 Bifu|

1. hdd A, B
2. Hdd B, D
3. 5Hdd B, C
4.$bdd A, C.D

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17709]
2[Option ID=17710]
3[Option ID=17711]
4[Option ID=17712]

Sl. No.54
QBID:131054

Sir William Jones is credited with the first statement concerning the relationships between :

A. Persian

B. Sanskrit

C. Hittite

D. Greek

E. Indo European

Choose the correct answer from the options given below :

1. Aand C only
2. B and E only
3. B and D only
4. Aand E only

1) 1

() 2

(3 3




(4) 4

fafeRaa @ foad 7 & deei & 9R & T $UF o7 & 99 IR fafoas S &1 foar siar g2

A. BRYL
B. T¥hd

A
YRIYg
i fau U fdh eyl § 9 gl 3R &l 99 Difol|

1. Fad A 3R C
2. HadB 3R E
3. HAAB 3R D
4. FAAASRE

(1)1
) 2
(3) 3
(4) 4

.
D.
E.

1[Option ID=17713]
2[Option ID=17714]
3[Option ID=17715]
4[Option ID=17716]

Sl. No.55
QBID:131055

According to L. Bloomfield two major types of borrowing include :

A. Cultural borrowing

B. Lexical borrowing

C. Pronunciation borrowing
D. Syntactic borrowing

E. Dialect borrowing

Choose the correct answer from the options given below :

1. B and C only
2. Aand E only
3. Cand D only
4.D and E only

1) 1

(2 2

(3) 3

(4) 4

Td. SHBICS P HTUR HEH I FHR BBl ©

A. IiRPpidd G

B. Ylsad 3A&H

C. 3R e

D. AIdA™HS GH
E. 9l 3IaH

< faU ¢ A el | 9 Ul 3R &l 99 Bifu|

1. $adB 3R C
2. Had A 3RE
3.%Had C 3R D
4. $9dD AR E




(1)1
) 2
(3) 3
(4) 4
1[Option ID=17717]
2[Option ID=17718]

3[Option ID=17719]
4[Option ID=17720]

Sl. No.56
QBID:131056

Split and Merger are

A. Syntagmatic change
B. Paradigmatic change
C. Phonological sound change
D. Lexical convergence
E. Morphological reformation

Choose the correct answer from the options given below :

.Aand D only
. D and E only
C and D only
.Band C only

1) 1
(2) 2
(3) 3
(4) 4

faHToH ud faau g -

A. foarasareEs giad
B. =qqdl el uRkadd
C. WS el aRkadq

D. XMMfead AR

E. Ui g

i faU 71U f[ah el § 9 Ug! IR &l 99 Bifu|

1. FadA3IRD
2. HadD R E
3. $Had C 3R D
4. FadB 3R C

1) 1
) 2
(3) 3
(4) 4

LTS I o B

=

1[Option ID=17721]
2[Option ID=17722]
3[Option ID=17723]
4[Option ID=17724]

Sl. No.57
QBID:131057




Basil Berastein in his theory, proposed two codes referring to varieties of language use. They are :

A. Alternative code
B. Elaborated code
C. Source code

D. Target code

E. Restricted code

Choose the correct answer from the options given below :

.Aand C only
.B and E only
. C and D only
.Aand E only
1
(2 2
(3) 3
(4) 4

SIS SR A 30 Rigid o LN UaRT & UhRI 9 &iid &1 del & wkd [har a1 d g -

A fdp e

B. faxgd &

C. gldPe

D. 35 T

E. Widdfdd $e

T faU ¢ A el | 9 Ul 3R &l 99 Bifu|

1. Fad A 3R C
2. HadB 3R E
3.%Had C 3R D
4. FddASMRE

1)1
(2) 2
3) 3
(4) 4

LTS I o B

=

1[Option ID=17725]
2[Option ID=17726]
3[Option ID=17727]
4[Option ID=17728]

Sl. No.58
QBID:131058

Michael E. Kvauss is known first as a specialist for his work on the following languages :

A, Nyungan

B. Athabaskanist
C. Eyak

D. Warlpiri

E. Tiwi

Choose the correct answer from the options given below :

. A and B only
.Band C only
.C and E only
.Aand D only
1) 1
(2 2
(3) 3

LTS I o B

=




(4) 4

AR yrrsfl & 9 659 IR 39+ SR g A3 5. H13Y &l GauyH A=Y & &9 H SH Sl 67

A T

B. YD
C. 3UIHh

D. GAURt

E. fadt

T faU ¢ A el | 9 Ul 3R &l 99 Bifu|

1. $dd A 3R B
2. HAAB AR C
3.%Hdd C 3R E
4. FIAASMRD

(1)1
) 2
(3) 3
(4) 4

1[Option ID=17729]
2[Option ID=17730]
3[Option ID=17731]
4[Option ID=17732]

Sl. No.59
QBID:131059

With regard to Language typology, which amongst the following statement(s) is/are true :

A. Language Typology studies the actual patterns of Languages of the world.

B. Language Typology acts as fodder for theoretical linguistics.

C. Patterns as found in the study of language disorders form the basic data of language typology.
D. Linguistic features at all the levels of analysis are part of typological studies.

E. Language universals are principles and the variations may be considered as parameters.

Choose the correct answer from the options given below :

1. A and B only

2.A,B,CandD only
3.A,B,D and E only
4. A, B, C and E only

1)1
(2) 2
(3) 3
4) 4

YTV Ty & ded J, FafaRad 11 9 $Y9 6l o2

A, MY oeY fagm # fay & yrwishi & andfa® ufaedl &1 siema fear sian g

B. HINT WY (4379 YGifaes HIVIR & (o aR & &Y R SRl g |

C. HINTE, [4PRI & 31e7d- | YT 91 did Wiy HINT YR ufdH & Hd Sfids & &9 H MiHd glar gl
D. fazeyor & i TR TR U1, 914 aTal! HINTS [a2sdTe TRet gl &1 I Bl ol

E. YT 91 Rigid (FH) € vd uRad= (=R a19eust & &4 § 714 71 9dhd ¢ |

T faU ¢ A el | 9 Ul 3R &l 99 Bifu|

1. $ad A 3R B

2. HAAA, B, C AR D
3. $Hadd A, B.D 3R E
4. $dd A, B, C 3R E




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17733]
2[Option ID=17734]

3[Option ID=17735]
4[Option ID=17736]

Sl. No.60
QBID:131060

Identify the correct statements.

A. Languages share recurrent patterns.
B. Generally, SVO languages have prepositional case markers.
C. Grammaticalization gives a formal acceptance to a pattern or practice that was not well accepted earlier.

D. Every language has a word for everything.
E. Language shapes the world view.

Choose the correct answer from the options given below :

1. A, B, CandD only
2.B,C,Dand E only
3.C,D. E and A only
4. A, B, C and E only

1) 1

(2 2

(3) 3

(4) 4

ol BT g -

A. HTSTE GARTG Uiy I Sl g

B. YHIRAG: all-Ispd1-aH (SVO) HINT H YR HRS g oidl 6|

C. ATHRUHVN I WicRe T I HIER Bl SAY=1RD WIbrIdl UeH Hdl g Sl Ud H G U I HibR
ol Tl

D. W T H §¥ 991 & faIg 0 Wz Sl 81

E. 11914 fag =¥ Ff#a &l €

i fau U fas el § O el 3R &l 99+ DI |

1.$dd A, B, C 3R D
2. %Hqd B, C,D AR E
3. Hdd C.D.E 3R A
4. $dd A, B. C 3R E

1 1
(2) 2
(3) 3
(4) 4

1[Option ID=17737]
2[Option ID=17738]
3[Option ID=17739]
4[Option ID=17740]

Sl. No.61
QBID:131061




In which of the following language teaching methods, the learner’s native language is not used and only the
target language is used?

A. Bilingual Method

B. Grammar Translation Method
C. Direct Method

D. Audio-Lingual Method

E. Natural Method

Choose the correct answer from the options given below :

1. C and E only
2. Cand D only
3. Aand B only
4. A and E only

(1) 1
) 2
(3) 3
(4) 4

W@?\qwﬁw%ﬁ.mﬂﬁﬁmwwwmﬂmw Had QST HINT BT ITTAR]
fhar S g 2

A. fgaiyenar fafe
B. ST 3{dr fafe

C. ye fafe
D. Y- forgh fafy

E. Uidbide fafe
i feU 1Y fasp el | 9§ Hgt IR P =94 By |

1. $ad C 3R E
2. HAd C 3ARD
3. Had A 3R B
4. FAAASRE

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=17741]
2[Option ID=17742]
3[Option ID=17743]
4[Option ID=17744]

Sl. No.62
QBID:131062

Which of the following are phonological parameters of sign languages?

A. Fingerspelling
B. Gesture

C. Orientation

D. Handshape

E. Movement

Choose the correct answer from the options given below :

1. A and B only

2. A, CandE only
3.C,Dand E only
4. A, B and D only




(1) 1
(2) 2
(3) 3
(4) 4

fafeRad @ 9 Gobd HwT3fi & WiHiES AFds B U g2
A. fTferded (Thrfei)

B. 3T fdam

C. HiHfa=arg

D. GHI-3HPId

E. GdaA

i< faU 71U A el § O Ul 3R &l 99 BIfu|

1. ®dd A 3R B
2. FdAd A, C 3R E
3,

4.%?1;&:333?1)

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=17745]
2[Option ID=17746]

3[Option ID=17747]
4[Option ID=17748]

Sl. No.63
QBID:131063

At the lexical level, the major challenges in translation are :

A. Cultural terms

B. Pronominal forms

C. Idiomatic Expressions
D. Proper names

E. Function words

Choose the correct answer from the options given below :

1. Aand D only
2. Aand C only
3. B and E only
4. C and E only

)1

(2 2

(3) 3

(4) 4




UINARO ¥ Rfsads TR R W A1l & -

A. Hi¥B{ds ug

B. {4114 Ug

C. HETARER HiHAf
D. Afearad A

E. TR U

i AU 7Y fdpedl H I 963 Iugdd IR Bl 99 Hifog|

1. $ad A 3R D
2. Had AR C
3. Had B 3R E
4. %dd C 3R E

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17749]
2[Option ID=17750]
3[Option ID=17751]
4[Option ID=17752]

Sl. No.64
QBID:131064

Two major figurative processes in stylistics include :

A. Foregrounding
B. Narration

C. Critical analysis
D. Parallelism

E. Representation

Choose the correct answer from the options given below :

. A and B only
.Aand C only
.Aand E only
.Aand D only

1) 1
) 2
3) 3
(4) 4

QcHifasE H < T SddRS Ufha ¢ -
A. UTEfd

B. 3=

C. HTAFTHSD [d2Avu]
D. GHIdRdT

E. HicR=gu

HId fau T fadhedi § I el 3R &I 994 DIfoY|

1. $9d A 3R B
2. FAA AR C
3. had A 3R E
4. Had A3RD

@) 1

LS I o B

g




() 2

3) 3

(4) 4

1[Option ID=17753]
2[Option ID=17754]

3[Option ID=17755]
4[Option ID=17756]

Sl. No.65
QBID:131065

According to Pym (2003), the following tendencies can be identified with regard to translation/translator
competence:

A. Competence as a summation of linguistic competencies

B. Competence as ‘no competence’ as translation deals with the actual use of languages
C. Competence as a multicomponential notion

D. Competence as ‘supercompetence’

Choose the correct answer from the options given below :

1. A, B only
2.A,B.C,D
3.A.Donly
4.B.C.D only

1) 1

2) 2

3) 3

(4) 4

% (2003) & STER. Fafafad yafadl &1 sHare (HNIR) HIN<RS ] B ARI/EEHdT & HaH H Sl
ST bl 57

A, HTSTIT GeAdTS & Hbd-T & w0 H F&Hd |
B. *H&HA & U H aHdl wifd Sdie HINISH & drdide UaiT d dee 3@di g

C. UhdgUCHIT YRUMN &b =0 H J&HT|

D. 3HH&Hdr & 9 H YeHdi|
=< f4U 71U A el | 9 Ul IR &1 99 Hifu|

1.Hdd A, B
2.A.B:C.D
3.Hdd A, D
4. HddB.C.D

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=17757]
2[Option ID=17758]
3[Option ID=17759]
4[Option ID=17760]

Sl. No.66
QBID:131066




Match List I with List IT ;

LIST I (Book) LIST II (Author)
A |Understanding Language Testing] I Jef Verschueren
B. [Understanding Pragmatics II. |Patricia Ashby
C. |Understanding Semantics I11. |Dan Douglas
D. [Understanding Phonetics IV, |Sebastian Lobner

Choose the correct answer from the options given below:

. A-IIL B-III, C-IV, D-I
CA-TIL B-1, C-IV, D-1I
.A-TV, B-1, C-11, D-1II
. A-IL B-1IV, C-1, D-1III
(1)1
) 2
(3) 3
(4) 4

Tl 1 F1Y Gl 11 BT e BIfog :

T 1 (T®) a1 1 (EH)
et TeT aiae ol L [ol aRad
s tEn e (o i1 URET
|srswefEn dita |1 [S5 eaw
_ | wiHldad | v, [Heegd dldd

i f4U 71U f[dhedi § 9 Ul 3R &l 99 HIfu :

. A-IL B-IIIL, C-TV, D-1
. A-IIL B-1, C-IV, D-II
.A-IV. B-1. C-II. D-III
. A-IIL B-1IV, C-1, D-III
(1) 1
) 2
(3) 3
(4) 4

L b =

=N

olo|w|e

o 1m0

I

1[Option ID=17761]
2[Option ID=17762]
3[Option ID=17763]
4[Option ID=17764]

SI. No.67
QBID:131067

Match List T with ListII :

LIST I (Books) LIST II (Author)
. [Phonology in Generative Grammar | I |[L. Hyman
[ntroduction to Phonological Theory] II. |P. Ladefoged
|A Course in Phonetics I11. |[H. Roberts
. |Generative Phonology IV. M. Kenstowicz

o|o|w|=

Choose the correct answer from the options given below:

1. A-I, B-IV, C-III, D-II
2. A-III, B-1, C-I1, D-IV
3. A-II, B-1V, C-1. D-1II
4, A-IV, B-111, C-11. D-1

1) 1

) 2

(3) 3

(4) 4




Tl 1 F1Y Gl 11 T e BIfo

Tl 1 (D)

11 ()

_ [PHEeT 39 s ied R I [od. 812HA

. [Betea®A ¢ wHIdsba [0Ed] 1L [dl. dShrlS

[T B 31 B ]

101 [g9_racd

ole|w|-

_ [eiRied Wi

IV, [o. eida]

< f4U 71U f[dh el § 9 Ul 3R &1 99 HIflu ;

b D

e

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17765]
2[Option ID=17766]

3[Option ID=17767]
4[Option ID=17768]

. A-L, B-IV, C-II, D-1I
. A-IIL, B-I, C-IL, D-IV
. A-II, B-1IV, C-1, D-III
. A-IV, B-IIL C-II, D-I

Sl. No.68
QBID:131068

Match List I with List II :

LIST I (Concept)

LIST II (Explanation)

. [External Adequacy

I. |This adequacy 1s a judgement based on the internal characteristics of the grammar

Internal Adequacy

II. [This adequacy 1s achieved when a grammar generates all of a particular sample of data.

Observational Adequacy| II1. |This adequacy 1s achieved when a principled basis is established for deciding the relative merits of alternative grammar)

o|o|w|E

. [Explanatory Adequacy

IV. |This adequacy judges a grammar in terms of how well 1t corresponds to the data.

Choose the correct answer from the options given below:

1. A-1IV, B-III, C-1I, D-I
2. A-III, B-1V, C-1, D-11
3. A- IV, B-1, C-1I, D-1II

=

1) 1
(2) 2
(3) 3
(4) 4

. A-II, B-1, C-1V, D-1II

a1 1 F1Y Gl 11 DT A HIfS -

T 1 (FFHeT

T 11 ST

_ |[aTer gl

T8 Uikl oThR0] b AT [GRdIaf TR ST Ui sl £

|oe Uit 9 U Bid & o1 oaidRul ¥ Sids & G [ARIP Uidezi &1 9o el o

. |7 Tt &s U il § oid debfcdd oI o FIdal [0 o U g il STUR R gidl 61

3

", [T Tl i dit oo u] &1 59 dig MU &idl & & I8 (a] 8] die 4 lds! U Hdle RI1td @idl g

i f3U U f[dh el | 9§ 98! IR &l 99 Hiflu :

LTV I o

=

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17769]
2[Option ID=17770]

. A-IV, B-1II, C-II, D-1
.A-IIL B-IV. C-I. D-1I
. A-IV, B-1, C-1I, D-III
. A-II, B-1, C-1V, D-III




3[Option ID=17771]
4[Option ID=17772]

Sl. No.69
QBID:131069

Match List I with List IT :

LIST I (Grammar Types in Chomsky Hierarchy)[LIST II (Grammar Names)
A |Tvpe 0 I RG

B. |Tvpe 1 Il [UPSG

C. [Type 2 11 |CSG

D. |Type 3 IV |CEG

Choose the correct answer from the options given below:

1. A-II, B-III, C-IV, D-1
2. A-1, B-II, C-III, D-IV
3. A-IV. B-III, C-I1. D-1
. A-IL, B-II1, C-I, D-IV
1) 1
() 2
(3) 3
(4) 4

Gl 1 F1Y Gl 11 BT A HIfS -

e

Rl 1 (AT SM1UHH H SATHRUN $1 UHR)[H1 11 (ATHUI Bl TH)
A [@E90 L[Sl ®e)
B [e3U1 1L [g 4l U8 Sl (UPSG)
C. [e3u2 1L [ TF Sl (CSG)
D. [e12U3 IV [€1 U Sl (CFG)
i< fau T fass gl # I 9gl IR bl 98 Hifod :
1. A-1I, B-1II, C-IV, D-1
2. A-I. B-11, C-III, D-IV
3. A-IV, B-III, C-I1, D-1I
4. A-II, B-1IL, C-1, D-IV
1)1
(2) 2
3) 3
4) 4

1[Option ID=17773]
2[Option ID=17774]
3[Option ID=17775]
4[Option ID=17776]

Sl. No.70
QBID:131070

Match List I with List I ;

LIST I (Books) LIST IT (Author)
. [Mahabhasva I. [Bhartrhan

. |Astadhyayt II. [Patafijali

. |Vakvapadiva I11. |Panini

. |5iddhantakaumudi] IV. [Bhattojidiksita

w] Fol Ive] =3

Choose the correct answer from the options given below:

.A-1, B-II, C-1V, D-III
.A-IL B-IIIL, C-1, D-IV
ATV, B-IOIL C-1, D-II
.A-TV. B-1I1, C-11. D-1
1) 1
(2) 2
(3) 3
(4) 4

b I =

=




Tl 1 F1Y Gl 11 T e BIfo

T 13 11 (TE®)
A. [AETH™ L[4l
B. |3 I [gagid
C. [drd@ua | I [arfor
D. [gid diHal | IV. [Helfsl aliéid

< f4U 71U f[dh el § 9 Ul 3R &1 99 HIflu ;

CA-L B-II. C-TV, D-1II
. A-II, B-III, C-1. D-IV
CA-TV. B-II1, C-1. D-II
.A-TV, B-11I1, C-II, D-1
1 1
) 2
(3) 3
(4) 4

b D

e

1[Option ID=17777]
2[Option ID=17778]
3[Option ID=17779]
4[Option ID=17780]

Sl. No.71
QBID:131071

Match List I with List II :

LIST I (Method) [LIST II (Branch of Linguistics)|
A |Comparative method I. [Field Linguistics
B. [Direct method II. Language Teaching
C. [Direct Elicitation method| III1. [Historical Linguistics
D. |Statistical method IV. |Computational Linguistics

Choose the correct answer from the options given below:

AL, B-IIL, C-1, D-IV
ATV, B-1L C-I1, D-1I1
.A-1 B-II, C-1II, D-IV
. A-TL B-IV, C-I11, D-1
(1) 1
(2) 2
(3) 3
(4) 4

a1 1 F1Y Gl 11 T e HIfS -

T 1 (TS = 11 (MO 1 2
D TS 1 |a= ytias=

[T Tgid I [YTer- e

M6 STUR T Ugid] 111 [Bfderie YreieyE
[gifere g gGia IV. [Eroreia HeTidee

b I =

=

ofof=|=

i faU U f[dh el | 9§ 98! IR &l 99 Hiflu :

CA-IIL BT C-1, D-IV
CA-IV. B-1. C-II. D-1II
. A-I, B-1I. C-III. D-IV
.A-TIL B-IV, C-I1, D-1
(1)1
) 2
(3) 3
(4) 4

LTV I o

=

1[Option ID=17781]
2[Option ID=17782]




3[Opti
4[Opti

ion ID=17783]
ion ID=17784]

SI. No

72

QBID:131072
Match List I with List IT :

LIST I (Authors) LIST II (Books)
A |Fasold, R 1. [Sociolinguistic Patterns
B. |[Chambers, JE. I1. |Sociolinguistics of Society
C. [Labov, W. I11. [Directions in Sociolinguistics
D. |Gumperz & Hymeg| IV. |Sociolinguistic Theory

L I S I

=

JA-TIV, B-1I, C-I, D-11
. A-IIL B-1IV, C-11, D-1
- A-IL B-1V, C-1, D-1I1

. A-IL, B-1II, C-1IV, D-1

1)1
(2) 2
(3) 3
(4) 4

Gl 1 F1Y Gl 11 BT A HIfS -

Choose the correct answer from the options given below:

T 1 ()

=i 11 (Th)

hales, 3R | L [EIREI6RES e

i, ol 11 [FiiRmiidgRee 3w gregel

ddld, 5. | 1L [SrRes—g 37 gifdmiicgieay

olo|w|F

[T 31 B3Ry IV, [SiRmicig e ol

bl D

ne

1)
(2)
(3)
(4)

. A-IV, B-III, C-I, D-TI
. A-III, B-1V, C-11, D-1
. A-IL, B-1V, C-1, D-I1T
. A-II, B-III, C-IV, D-1
1
2
3
4

1[Option ID=17785]
2[Option ID=17786]
3[Option ID=17787]
4[Option ID=17788]

i fau 77T fasb eyl # I gt IR 1 94 BIfoIT :

Sl. No.73
QBID:131073

Match List I with ListIL :
LIST I (Linguistic Features) LIST 11 (Languages)
A [Velar Nasal in Word Initial Position] 1. |English, Khasi, Greek
B. [Bilabial Stop Aspiration II. [Hindi. Bluli, Kannada
C. [Numeral Classifier II1. |[Khasi, Swahili, Nganasan
D. [SVO Word Order IV, [Maithili, Khasi, Vietnamesd

1)
(2)
(3)
(4)

b I =

=

. A-I, B-II, C-IIL, D-IV
. A-II, B-1II, C-1IV, D-1
. A-II, B-II, C-1IV, D-1
. A-TIV, B-1II, C-1II, D-I
1
2
3
4

Choose the correct answer from the options given below:




Tl 1 F1Y Gl 11 T e BIfo

T 1 (WY fa=iuar) FAT 11 (HTATR)

A [21eg @1 ARIHS RUIG H Doy 31iae| 1 [ @l Jie
B. [3valg w9 Femwm 11 [fe=al. ich. das

C. [gEn aid 111 [farei, warfe . ST
D. [0g 41 3l Wez-HH TV, [Afere. @, fqaamt
i fau 77U fab el § ° Igl 3R &l 98- IS ;

1. A-I. B-II, C-1II. D-IV

2. A-II, B-III, C-1V, D-1

3. A-I, B-II, C-1IV, D-1

4. A-TIV, B-III, C-II, D-1
1) 1
) 2
(3) 3
4) a4

1[Option ID=17789]
2[Option ID=17790]
3[Option ID=17791]
4[Option ID=17792]

Sl. No.74
QBID:131074

Match List I with List II :

LIST I (Symptom) LIST II (Disorder)
A Difficulty in writing words I |Anomia
B. [Difficulty in reading words II. |Agrammatism
C. [Difficulty in recalling words III. [Dvslexia
D. [Difficulty in producing functional words] IV, [Dyvsgraphia

Choose the correct answer from the options given below:

1. A-1IV, B-III, C-I, D-II
2. A-III, B-1V, C-11, D-1
3. A-II, B-1, C-III, D-IV

4, A-1, B-1I, C-IV, D-II1
1) 1
2 2
(3) 3
4) 4
Yl 19 WY Yl 11 BT e HIfo -
L IS T 1 e
A [9e5] @] [oiad § dieds 1[I
B. [3rsa] &1 Ug H Bily 1. [ogHies
C [Brsa| @] 930 a3 § didAs 111 [Eeciioan
D. [JbTgIcTe sal Pl U&id d3d H IV, [iEgaithar
i fau U fab el § ¥ 98! 3R &l 98- IS ;
1. A-IV, B-I1I, C-I. D-II
2. A-IIT, B-IV. C-I1, D-1
3. A-II, B-1, C-II1, D-IV
4. A-I, B-II, C-1V, D-III
11
2 2
(3) 3
4) 4

1[Option ID=17793]
2[Option ID=17794]




3[Option ID=17795]
4[Option ID=17796]

Sl. No.75
QBID:131075

Match List I with List IT :

LIST I (Lexical database types) LIST II (Explanation)
A |Dictionary 1. [Explanation of concepts of the terms and words.
B. |Thesaurus II. |Presentation of domain-based conceptual equivalents.
C. |Glossary I11. [Thematic classification of words
D. [Wordbook IV |Alphabetical arrangement of words with lexicographic detailg

Choose the correct answer from the options given below:

1. A-IV, B-IIL C-I, D-II
2. A-1, B-1I, C-III, D-IV
3. A-IIL B-1V. C-1, D-II
4. A-II, B-IV, C-1I1, D-1
11
(2 2
3) 3
(4) 4
Gl 1 F1Y Gl 11 BT A HIfS -
= 1 (M@ STETad & ThR i 11 (SITE)
A [ (S 1 [0ai ud Risal @1 GareuHl &1 IR
B. [@I=1 (UORE) 11 [ curdd SHdedl Bl & HTETRT TEiabR0l
C. [Rrearddil 3ER) 111 [2Teg] &1 SigHI0 Gl
D. [Ers8UE ([dsdd) 1V, [ 1=id faaeul 9igd Tea! &1 FbHTER ATR]

i fau 77T fasb eyl # I gt IR 1 94 BIfole :

A-IV, B-1II, C-1. D-II
.A-L B-II, C-1IL, D-IV
A-III, B-1V, C-1, D-II
A-IL B-1V, C-III, D-1

bl D

=

1) 1
2) 2
3) 3
4) 4
1[Option ID=17797]
2[Option ID=17798]

3[Option ID=17799]
4[Option ID=17800]

Sl. No.76
QBID:131076

Arrange the following in chronological order of emergence of linguistic theories/sub-fields.

A. Philology

B. Behaviourism

C. Generative Grammar
D. Historical Linguistics
E. Structural Linguistics

Choose the correct answer from the options given below :

-A-
s s
— g
= B

h“]UCJr"W.t'ﬂ




(4) 4

AT HINTS RIsid/3Uias & 3wad DI BIAHHMUR Oaid Bl ;

A, HTNTRIRG
B. dgRdIq

C. TSI HTHI]

D. BfaeTiie yifas=
E. TRAAIES HUIYIGIHE

HId fau e fash el | I el 3R &l 904 DIy |
1.D-B-C-A—E
3 A =B
3. C—A=D—=E~B
4B-D-A-C-E
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=17801]
2[Option ID=17802]
3[Option ID=17803]
4[Option ID=17804]

Sl. No.77
QBID:131077

Arrange the following vowels in correct order of vowel height from high to low.

Az
B. ¢
C.e
D.i

Choose the correct answer from the options given below :

1.D.C.B.A
2.D,A,B,C
3.C,B.D. A
4.C,A.B.D

1 1

(2) 2

(3) 3

(4) 4




1[Option ID=17805]
2[Option ID=17806]
3[Option ID=17807]
4[Option ID=17808]

Sl. No.78
QBID:131078

Arrange the correct sequence fallowing the order ‘sound to situation’
A. Morphology

B. Syntax

C. Phonology

D. Discourse

E. Semantics

Choose the correct answer from the options given below :

1.LA-B-C-D-E
2B-A-C-E-D
3.)E-B-A-D-C
4 C-A-B-E-D
1) 1
(2) 2
(3) 3
(4) 4

3§ Wifad & A H galeyd Sifo -

A, EYAIHE
B. 41 a1y
C. @fHH fage
D. fauei

E. 3ndfagm

HId fau U fadh el H 9 el 3R &l 9094 DIy |
I.A—B-C—D—B

3 B A 0 PP

3 Fe BN Dl

4. C—-A-B-E-D

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=17809]
2[Option ID=17810]
3[Option ID=17811]
4[Option ID=17812]

Sl. No.79
QBID:131079

The sequence of tasks in creating a language model in Natural Language Processing would be

A. Training the model

B. Creation of gold data set
C. Testing the model

D. Evaluating the model

Choose the correct answer from the options given below :

1
2
3
4




(1) 1
(2) 2
(3) 3
(4) 4

a1y Uispies {1 YbHUT H 1IN Hisd o AT & ot Bl o1 | Il -

A, ATSd Bl URATET B3
B. 71ITS SICT U BT Joid
C. AIS T T GRI&0T B
D. ATS A DI Helidh BRI

Hid fau T fadhedi H § Tol 3R &I 98- DIfSU|

1. A, € B.D
2.B.AC. D
3.B.D,A.C
4. A.B,C.D

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=17813]
2[Option ID=17814]
3[Option ID=17815]
4[Option ID=17816]

Sl. No.80
QBID:131080

Contextual meaning can be arrived at by adding information in the following sequence :

A. Lexical context
B. Syntactic context
C. Topical context
D. Discourse context
E. Global context

Choose the correct answer from the options given below :

l.LA-C-D-B-E
2A-B-C-D-E
3.3E-D-B-C-A
4 B-D-C-A-E
(1) 1
(2) 2
(3) 3
(4) 4

fFrofafed w0 & g SsH urifie o 9@ ygr o gadi @ -
A. Qe HaH

B. AIHGANTHS dgH
C. fawg gesh dey

D. fausl ey

E. di%® day

T faU 70 fdh el | O Ug! IR &1 994 Hifu|

8
2




(1)1
) 2
(3) 3
(4) 4
1[Option ID=17817]
2[Option ID=17818]

3[Option ID=17819]
4[Option ID=17820]
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Arrange the following concepts in chronological order in which they appeared :

A. Neo-grammarian Hypothesis
B. Sturtevant’s Paradox

C. On-going Sound Change

D. Lexical Diffusion

E. Optimality theory

Choose the correct answer from the options given below :

1.B-A-C-E-D
2C-A-D-E-B
3.B-A-D-C-E
4 A-B-C-D-E
1) 1
(2) 2
(3) 3
(4) 4

Frafeead srauRunsl @ 3% 3Gd & BIAHHITHIR HIRYT DY ;

A. T3-3TTEHR] GRS
B. ¥ Cdic &l farienHrg
C. effaxa af ufkad=
D. YMfead famRm

E. 3¥dl Risid
T faU U f[ah el § 9 Ug! IR &l 99 B |

W
w>a>3>
1 O

G — B
=B
e ==
—C =D

F
:Jabdﬁbd

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17821]
2[Option ID=17822]

3[Option ID=17823]
4[Option ID=17824]

Sl. No.82
QBID:131082




Arrange the following works of Peter Trudgill in ascending order :

A. Dialects in contact

B. The Social Differentiation of English in Norwich

C. On Dialect : Social and Geographical Perspectives

D. New Dialect Formation : The inevitability of Colonial Englishes.
E. Sex, covert prestige and Linguistic change

Choose the correct answer from the options given below :

LDA BE. €
2B A EDC
3 ALE D B.A
4.E.B,C,A.D

1

(2 2

(3) 3

(4) 4

diex grsfite @1 pial o1 3Rig! H H afud Hifon :

A. SHddCY 3 dicae
B. & WIa TSTHIRITYA 34 S 3 ARTA

C. 31 SRIeae : 9| uos foraufthed gedfdeoy

D. 3 ST BT : & gufaciaferdt s Sidiud e
E. Uod, dlac YRS uus feffiaies a9

i< feu Tu faeedi # O Tol 39 &l 984 Do |
1.D,A.B,E,C
IBAEDE
3.C,E,D.B,A
4.E,B.C.,A,D
1) 1
(2) 2
3) 3
4) 4

1[Option ID=17825]
2[Option ID=17826]
3[Option ID=17827]
4[Option ID=17828]

Sl. No.83
QBID:131083

Arrange the languages / mother tongues as per their number of speakers as reported in 2011 Census of Registrar

General of India, Govt. of India, in ascending order.

A. Bodo

B. Tulu

C. Savara
D. Kolami
E. Bhojpuri

Choose the correct answer from the options given below :




(4) 4

DI : (IMRIe! PATEAR)

A 9IS

B.qq
C. arT

D. hIdmE!
E. HISTq3

i fau U fasm el I O el 3R &l 99+ DI |

S
g n g
R NeoNs,
B 0
|
0=

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17829]
2[Option ID=17830]

3[Option ID=17831]
4[Option ID=17832]

YR WDHR & YR D HGIUSITD & ST ] ST HINT/HTGHINT Bl did- dral & SR Farerd
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Arrange the following lobes of the brain in correct order from front to back.

A. Parietal
B. Occipital
C. Frontal
D. Temporal

Choose the correct answer from the options given below :

1.AD. B
2.B.C.AD
3.C.D.A.B
4. B.AD,C

(1) 1

) 2

(3) 3

(4) 4

ARds & Fgiefad UET (@S ST MU I 9T & HH H AaRed HIfo -

A TRged
B. 3t

C.Whcd
D. CHURA

Hid fau T fadhedi H § Tol 3R &I 98- DIfSU|

| A
2.
3

Wowp
PUNUg
up P o
AWdw

) 1
() 2




3) 3
(4) 4

1[Option ID=17833]
2[Option ID=17834]
3[Option ID=17835]
4[Option ID=17836]

Sl. No.85
QBID:131085

Arrange the following books in ascending order of date of publication.

A. Field linguistics : A. Beginner’s Guide - T. Crowley

B. Linguistic Fieldwork : P. Newman & M. Ratiff

C. The Methodology of field investigations in linguistics - A.E. Kibrik

D. Field Linguistics : A Guide to Linguistic Field Methods - J.W. Samarin
E. Introduction to Linguistic field methods —- B. Vaux & J. Cooper

Choose the correct answer from the options given below :

1.B.D.A.E.C
2.D.CEB A
3.0 E.BLALD
4. A.D.B.E.C

(1) 1

) 2

(3) 3

(4) 4

FaiaRad Q| &1 Id UPHIRF & ARGl HH H Adeyd S|

A. Bl feiffaResy ; Tfafimd mss - . wrad
B. feiftafes wicgad - Ul. A T wH. e
C. T HYSIA 3T BIts 3oy 34 fdfiaied - TS, fhfg®

D. Bics feiffafeee : gmgs ¢ fdifafe $ies Ausgy - . saeg d@iA
E. ScieaeH ¢ fuiffafed wics Aygy - ol 916 7Us o, W

HId fau Tu fadh el H 9 el 3R &l 904 DIy |
1.B,D,AE, C
2D CEBA
3.C.,E.B,A.D
4.A.D,B.E,C
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17837]
2[Option ID=17838]
3[Option ID=17839]
4[Option ID=17840]
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Given below are two statements :

Statement I : Four-to-seven-month-old hearing infants exposed to spoken language produce a restricted set of
phonetic forms.
Statement IT : Four-to-seven-month-old deaf infants exposed to sign language produce a restricted set of signs.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement I is incorrect
4. Statement I is incorrect but Statement IT is correct
11
(2) 2
(3) 3
4) 4

EIE G RIE A G I

DY IR Y YA ARG D YA Y- dTel FRIg] Hifddh U DI HfHoTad H g WD FUl & giRdifig
JH=IY Dl I B G |

fﬁ?ﬁ%l ;IR Y I AHIE & iR U] ebd HINT 1 SifHoded B3 gg Hebdl & IRHIHT TH=TT BT 3T
E2GE!

JURIS HY & 37l H, = faU MU fddh el # 9 998 Iuged 3R &I 99 Difoy -

1. HYTI R I G I §
2. HYTI AR NI SHl e §
3. FYTIII §. dfbd BYA I 3T ©
4. PYTI A G, AfPIHFYT I I &
1) 1
2) 2
(3) 3
) 4

1[Option ID=17841]
2[Option ID=17842]
3[Option ID=17843]
4[Option ID=17844]
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Given below are two statements :

Statement I : The core of the informative function of language is external situation - the facts of a topic, reality
outside language, indicating reported ideas or theories.

Statement IT : The phatic function of language is not used for maintaining friendly contact with the addressee
rather than imparting foreign information.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4, Statement I is false but Statement II is true

11

(2 2

(3) 3

4) 4




e pyafeuug -

DU : YN D YD Y b1 Hd drel URRUTT [qwa & dqeff, gt v &bt gurdar, wfdafed duaal a1
fgidl o FAdy F Wik adi gl

DY I1 : HINT D] FHISD YR Ui & F1Y fFEad SUe S/ 1@ & SSd ST G- YaH R H
gdd g1 fhar Sdr g

SWRIGd HY & 3Tl H, =i iU MU fdh el # 9 9ad Iugdd 3R DI 99 DIfy :

| HUFIRISH Id g

2. FYFTI AR M aH! T §

3. FYF 1T g, dih- DU I 3T &
4. FUFI T ¢, AP FUA T T §

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=17845]
2[Option ID=17846]
3[Option ID=17847]
4[Option ID=17848]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : ‘Language death’ refers to a situation which arises when a language ceases to be used by a
community; also called ‘language loss’, especially when referring to the loss of language ability in an individual.
Reason (R) : The term ‘Language attrition’ is sometimes used when the loss is gradual rather than sudden.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is incorrect.
4. (A) is incorrect but (R) is correct.
1)1
) 2
(3) 3
(4) 4

19 Gl DU AU T B : Ub SHHDUT Assertion (A) b FY H [dRIT ¢ I GHI IYb HRUI Reason (R) S FY
g
DY A - U faqfaer (civaeT SY) 39 Rufd T eied gidl ¢ o dd 3@ gl ¢ o1d By HTT fhdt

Tard gR1 VAT fasar ST de R & it 8, forg <unftves eifer ot g1 siran €, ug fagiva: 99 &gl Siar g
oI febeit aafaa & Wit amed o affd gt 21

DRU[R : “HINT &P (1S TEIRH) Ue HHl-HHR dd Ygad a1 SIdl g oid &ifd 3= i+l &1 ol
Hi®d TTH gl o

IRIFd YT & 3Tdld H, i ST MU [dhedl H 8 a8 Iugdd IR BT 90 Hifog

- (A) 3R (R) &I HE1 € 4R (R), (A) DI UE! ARSAT B |

. (A) 3R (R) ST U1 B, Afh (R), (A) B U] ARST 81 & |
K

i

L o R

A) Tl ¢, df (R) TEl TS B
A) Tel T8l 8, Al (R) 9l B

1

) 1




) 2
3) 3
(4) 4

1[Option ID=17849]
2[Option ID=17850]
3[Option ID=17851]
4[Option ID=17852]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The grammar-translation method developed in the US after World War IT and spread all over the
world.

Reason (R) : The method involved grammatical explanation of key structures, the teaching of selected area of
vocabulary and exercises involving the translation of discounted sentences into the mother tongue.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is incorrect.

4. (A) is incorrect but (R) is correct.

1) 1

(2 2

(3) 3

4) 4

:ﬁ%ﬁﬂ$2ﬂﬁ'€]’m% (U HIHHUT Assertion (A) %Wﬁﬁl@ﬁ%ﬁw 3P BRI Reason (R) & ®Y
R

STHBYT A : SATBIUN HINIRUT Yegfdl eielid fasgg & urd smRe! # fapiid g3 ok T fay # Tl

DRUIR : 39 Ugld & Hd =1 Bl ATHRIVID ARAL Ascldell b -l &7 I &1 3R sdg drrl bl
ATGHTNT H HINTAROT R 7|

JURIE HYU-T & 31l |, i faU MU fddedi # 9 98 Iuged IR &1 99 DifoY

1. (A) 3R (R) &I TE1 § 3R (R), (A) B! UG AT G |

2. (A) 3R (R) 2T GEl €. dfh (R), (A) P! UL e -Tel &
3. (A) gl g, dfh (R) T el B

4. (A) W81 7T 8. b (R) WeT B

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=17853]
2[Option ID=17854]
3[Option ID=17855]
4[Option ID=17856]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The goal of translation is to establish a relation of equivalence of intent between the source and

the target language.
Reason (R) : Translation is practised as an age old profession to establish a kind of social stability across

language groups to link up both source and target languages.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is incorrect.
4. (A) is incorrect but (R) is correct.
1) 1
(2 2
(3) 3
4) 4

19 ST PUA [T § - Ud SHHBHUT Assertion (A) & &Y H [ARIT ¢ ol GO 3Ud HRUI Reason (R) b &Y
H:

SHIHDHYA A : HINTARUT T d&d HId Ud T HINT & e S DI GHJedd BT Ja8 RITUd DA |

DHRUTR : Y- ATHE & =9 H HINIIROT BT T HId UG d&d HINT &Il bl Sils o g HIeT Jigi & 72
qTHISTS RN R B o (o8 [ Sar g |

SR HY & 3M1cid H, =i [T MY fddbeal # I Tad Iugad IR DI 99 DIfoy :

L. (A) 3R (R) <M1 W6l § SR (R). (A) P Wel ARATR
2. (A) 3R (R) SF1 TEl B, Afh (R), (A) T &I e el 2
3. (A) Tel &, dfd (R) WBI Tel B
4. (A) 9gl 9ol g, |l (R) el g

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17857]
2[Option ID=17858]
3[Option ID=17859]
4[Option ID=17860]
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Read the following passage carefully and answer the questions that follow:

While Himmelmann (1998:163) recognizes that there is necessarily overlap in the area of the transcription of
data in documentation and description, he argues that collection (i.e.. documentary fieldwork) and analysis (i.e.,
descriptive fieldwork) are different activities in terms of result, procedure and methodology. From a practical
point of view, if collection and analysis are not distinguished, researchers will not pay sufficient attention to the
activity of collecting. Secondly, when the documentary data are made available, they should be useful not only to
people writing a descriptive grammar, but also to scholars in other disciplines such as anthropology, oral history,
sociolinguistics, and discourse analysis. A grammatical description, on the other hand. is primarily useful only to
grammarians and comparativists. Finally, description is different from documentation because there is no
automatic procedure for deriving description from data, since depending on the underlying theoretical
framework, different descriptions can and will result.

FHTaRad o1 ulgu Ud 39 U= TR Ul &l 3T glfold -

e TEFITaHM (1998:163) BT AT & [ UeRdI@R0l Ud i H i sl & fadd- & &3 § a0 ®
S0 Y YR A GRA i1l 8, d deb &d ¢ fob TUg (eruld yed! &eiebr) Ud faaiwor (2ruid qui-res
&APHR) URUIE, Hishar ud yure! fa9 & dey | 144 fhardd & | U aragiiRe 2P 4, gfe I9g ud
fareror fafamy 2t 81a 8. ydhdl Ture foran & Taitd e et 3711 R STe ver! Sfids U 81§,
dl d @il & fo1 9 dad faaruneres odreRu fea- & fere Iugivil g1+ =1feu fdhq oi=a fawal & fagrHi & ferg
oI fob AFAfdH, HiRdD 3fagr, FHTSI-HINT fasi, Ud fdA faeiyur gadl dR®, $ig ATHRIUS [daru]
1 U U had JgIhRIUIb] Ud da-Trariadl & e gl il gidr ¢ | 3f=<id: qui- Yol ol d foe gidl ¢
Fifd 3afled efd IR AR &= ard faf¥= auia U g1 9hd & Td urd gl |

Documentary fieldwork involves :-

1. Preparation for a fieldwork
2. Transcription of data
3. Collection of data
4. Annotation of data
1
(2 2
(3) 3
(4) 4

e 6T & S g E -

1. Tl &F-31d & fere dard
2. 3fibal Pl ferdd-
3. 3fih ol BT I
4. 3H I BT Iwvar
1) 1
) 2
(3) 3
(4) 4

1[Option ID=17861]
2[Option ID=17862]
3[Option ID=17863]
4[Option ID=17864]
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Read the following passage carefully and answer the questions that follow:

While Himmelmann (1998:163) recognizes that there is necessarily overlap in the area of the transcription of
data in documentation and description, he argues that collection (i.e.. documentary fieldwork) and analysis (i.e.,
descriptive fieldwork) are different activities in terms of result, procedure and methodology. From a practical
point of view, if collection and analysis are not distinguished, researchers will not pay sufficient attention to the
activity of collecting. Secondly, when the documentary data are made available, they should be useful not only to
people writing a descriptive grammar, but also to scholars in other disciplines such as anthropology, oral history,
sociolinguistics, and discourse analysis. A grammatical description, on the other hand. is primarily useful only to
grammarians and comparativists. Finally, description is different from documentation because there is no
automatic procedure for deriving description from data, since depending on the underlying theoretical
framework, different descriptions can and will result.

fafeiad o1 ufet ud 3 R orutid Uyl &1 IR ey -

STdfd TeFITaHM (1998:163) BT AT & [ UeRaIdRul Ud quiH H sfid sl & fadd & &3 § a0
U Y URER A1 R STl 8, d b odl ¢ b qUe (i Uil &b i) ud fa=eiyur (3ruld aui-rere
&IhTRY) URUIH, ufshar ud yuire! fd & e H 34 fsbareeid g1 U ardgiRe =Pdiun 3, afd ¥ug ud
faweror fafary =€t 81d 8. 1 ydhdl Yue forun 8 vuitd ear 981 3711 SR oie Uerd! 2fids Iuas 81d B,
dl d @il & fo1 9 dad faaruneres odreRu fea- & fere Iugivil g1+ =1feu fdhq oi=a fawal & fagrHi & ferg
oI fob AFAfdH, HiRdD 3fagr, FHTSI-HINT fasi, Ud fdA faeiyur gadl dR®, $ig ATHRIUS [daru]
1 U U had JgIhRIUIb] Ud da-Trariadl & e gl il gidr ¢ | 3f=<id: qui- Yol ol d foe gidl ¢
Hifd sffigd ¢l TR MR B ard faft= qui U1 81 9ebd ¢ Ud U 1|

Descriptive field work involves -

1. Analysis of language data
2. Storage and management of language data
3. Describe a community based on data
4. Produce a report based on data
1) 1
(2 2
(3) 3
(4) 4

f[AaRUTHD (UHTHD) &6 | A gIdi g -

1. HISTH 3fih el BT fa=eyur|

2. YN} 3 el BT YUl Ud Uaed

3. Hficbgl IR ARG (bl GHE™ o1 9uid S|

4. gl W 1IRG, fobdt Rl wfddeT) P uwdd ST

1 1
(2) 2
(3) 3
(4) 4

1[Option ID=17865]
2[Option ID=17866]
3[Option ID=17867]
4[Option ID=17868]
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Read the following passage carefully and answer the questions that follow:

While Himmelmann (1998:163) recognizes that there is necessarily overlap in the area of the transcription of
data in documentation and description, he argues that collection (i.e.. documentary fieldwork) and analysis (i.e.,
descriptive fieldwork) are different activities in terms of result, procedure and methodology. From a practical
point of view, if collection and analysis are not distinguished, researchers will not pay sufficient attention to the
activity of collecting. Secondly, when the documentary data are made available, they should be useful not only to
people writing a descriptive grammar, but also to scholars in other disciplines such as anthropology, oral history,
sociolinguistics, and discourse analysis. A grammatical description, on the other hand. is primarily useful only to
grammarians and comparativists. Finally, description is different from documentation because there is no
automatic procedure for deriving description from data, since depending on the underlying theoretical
framework, different descriptions can and will result.

fafeiad o1 ufet ud 3 R orutid Uyl &1 IR ey -

STdfd TeFITaHM (1998:163) BT AT & [ UeRaIdRul Ud quiH H sfid sl & fadd & &3 § a0
U Y URER A1 R STl 8, d b odl ¢ b qUe (i Uil &b i) ud fa=eiyur (3ruld aui-rere
&IhTRY) URUIH, ufshar ud yuire! fd & e H 34 fsbareeid g1 U ardgiRe =Pdiun 3, afd ¥ug ud
faweror fafary =€t 81d 8. 1 ydhdl Yue forun 8 vuitd ear 981 3711 SR oie Uerd! 2fids Iuas 81d B,
dl d @il & fo1 9 dad faaruneres odreRu fea- & fere Iugivil g1+ =1feu fdhq oi=a fawal & fagrHi & ferg
oI fob AFAfdH, HiRdD 3fagr, FHTSI-HINT fasi, Ud fdA faeiyur gadl dR®, $ig ATHRIUS [daru]
1 U U had JgIhRIUIb] Ud da-Trariadl & e gl il gidr ¢ | 3f=<id: qui- Yol ol d foe gidl ¢
Hifd sffigd ¢l TR MR B ard faft= qui U1 81 9ebd ¢ Ud U 1|

‘Grammatical description’ is primarily useful to

1. Anthropologists and historians
2. Grammarians and comparativists
3. Sociolinguists and dialectologists
4. Linguists and lexicographers

1) 1

(2 2

(3) 3

(4) 4

AT {0b JUI W w0 ¥ FafaRdd feaes forg Iuan gidr g2

1. A=Al Ud SideeRi & fau
2. 491RUI Td gaArancaal & ey
3. GHISIHNTIARTAT Ud diciiddmse & o
4. YNTfde] Ud HIYHRI & feiu
1) 1
) 2
(3) 3
(4) 4

1[Option ID=17869]
2[Option ID=17870]
3[Option ID=17871]
4[Option ID=17872]
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Read the following passage carefully and answer the questions that follow:

While Himmelmann (1998:163) recognizes that there is necessarily overlap in the area of the transcription of
data in documentation and description, he argues that collection (i.e.. documentary fieldwork) and analysis (i.e.,
descriptive fieldwork) are different activities in terms of result, procedure and methodology. From a practical
point of view, if collection and analysis are not distinguished, researchers will not pay sufficient attention to the
activity of collecting. Secondly, when the documentary data are made available, they should be useful not only to
people writing a descriptive grammar, but also to scholars in other disciplines such as anthropology, oral history,
sociolinguistics, and discourse analysis. A grammatical description, on the other hand. is primarily useful only to
grammarians and comparativists. Finally, description is different from documentation because there is no
automatic procedure for deriving description from data, since depending on the underlying theoretical
framework, different descriptions can and will result.

FHTaRad o1 ulgu Ud 39 U= TR Ul &l 3T glfold -

e TEFITaHM (1998:163) BT AT & [ UeRdI@R0l Ud i H i sl & fadd- & &3 § a0 ®
S0 Y YR A GRA i1l 8, d deb &d ¢ fob TUg (eruld yed! &eiebr) Ud faaiwor (2ruid qui-res
&APHR) URUIE, Hishar ud yure! fa9 & dey | 144 fhardd & | U aragiiRe 2P 4, gfe I9g ud
fareror fafamy 2t 81a 8. ydhdl Ture foran & Taitd e et 3711 R STe ver! Sfids U 81§,
dl d @il & fo1 9 dad faaruneres odreRu fea- & fere Iugivil g1+ =1feu fdhq oi=a fawal & fagrHi & ferg
oI fob AFAfdH, HiRdD 3fagr, FHTSI-HINT fasi, Ud fdA faeiyur gadl dR®, $ig ATHRIUS [daru]
1 U U had JgIhRIUIb] Ud da-Trariadl & e gl il gidr ¢ | 3f=<id: qui- Yol ol d foe gidl ¢
Fifd 3afled efd IR AR &= ard faf¥= auia U g1 9hd & Td urd gl |

Documentary fieldwork and descriptive fieldwork differ on the factors -

1. Theory, application and results
2. Inference, Analysis and relevance
3. Purpose, utilization and reference
4. Result, procedure and methodology
1) 1
(2 2
(3) 3
(4) 4

i d & PRPT & 2MUR W ueid! &7 P ud auiHies &7 o e gld G -

1. R, erunT ud uikom
2. 3TAM, fazayor Ud Ui
3. 3594, IUAIfTdr ud Hay
4. gikoTH, HishaT Ug YU ifaRi
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17873]
2[Option ID=17874]
3[Option ID=17875]
4[Option ID=17876]
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Read the following passage carefully and answer the questions that follow:

While Himmelmann (1998:163) recognizes that there is necessarily overlap in the area of the transcription of
data in documentation and description, he argues that collection (i.e.. documentary fieldwork) and analysis (i.e.,
descriptive fieldwork) are different activities in terms of result, procedure and methodology. From a practical
point of view, if collection and analysis are not distinguished, researchers will not pay sufficient attention to the
activity of collecting. Secondly, when the documentary data are made available, they should be useful not only to
people writing a descriptive grammar, but also to scholars in other disciplines such as anthropology, oral history,
sociolinguistics, and discourse analysis. A grammatical description, on the other hand. is primarily useful only to
grammarians and comparativists. Finally, description is different from documentation because there is no
automatic procedure for deriving description from data, since depending on the underlying theoretical
framework, different descriptions can and will result.

FfIRIT &1 UfeT Ud 39 UR MeTRd Ul 1 IR Slflu -

STdfd TeFITaHM (1998:163) BT AT & [ UeRaIdRul Ud quiH H sfid sl & fadd & &3 § a0
U Y URER A1 R STl 8, d b odl ¢ b qUe (i Uil &b i) ud fa=eiyur (3ruld aui-rere
&) IR, Ufchar Ud yuiel! fax & deH # fHe foharedam €1 U aaragiRe fPehivr 4, afe ug ud
faweror fafary =€t 81d 8. 1 ydhdl Yue forun 8 vuitd ear 981 3711 SR oie Uerd! 2fids Iuas 81d B,
dl d @il & fo1 9 dad faaruneres odreRu fea- & fere Iugivil g1+ =1feu fdhq oi=a fawal & fagrHi & ferg
oI fob AFAfdH, HiRdD 3fagr, FHTSI-HINT fasi, Ud fdA faeiyur gadl dR®, $ig ATHRIUS [daru]
1 U U had JgIhRIUIb] Ud da-Trariadl & e gl il gidr ¢ | 3f=<id: qui- Yol ol d foe gidl ¢
i 3=df-ifgd g W R B arel faft= g uitd g1 ¥ehd € Td ured gitl|

If collection and analysis of data are not distinguished -

1. Transcription of data in documentation will not be properly done
2. Documentary fieldwork will overlap with descriptive fieldwork
3. Researchers will not pay sufficient attention to the activity of collecting
4. Language documentation and description will not be done in a scientific manner
1) 1
(2 2
3) 3
(4) 4

afe sfid gl & HYe Ud fazayor fafm et g i -

1. UAEIHRU H 3ol Pl fidh 3=dl dg el gl YU
2. YAt AFE R faaruTd® AT Afgd TRER ST G|
3. QYSdl JUGU & feharhdrd Bl 3R gaftd <= Tl 1|
4. YIRSt yerdie o ud faaeor agifae 9t 9 el g grue|

@) 1

() 2

(3) 3

4) 4

1[Option ID=17877]
2[Option ID=17878]
3[Option ID=17879]
4[Option ID=17880]
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Read the following passage carefully and answer the questions that follow:

.. a pushdown automaton can carry out computations which are beyond the capacity of a finite automaton,
which is perhaps the simplest sort of machine able to accept an infinte set of strings. At the other end of the scale
of computational power is the Turing machine (after the English mathematician A.M. Turing, who devised them),
which can carry out any set of operations which could reasonably be called a computation.

Like the previous classes of automata, a Turing Machine can be visualized as having a control box, which at
any point is in one of a finite number of states, an input tape marked off into squares with one symbol of the
input string being inscribed on each square, and a reading head which scans one square of the input tape at a
time. The Turing Machine, however, can write on its input tape as well as read from it, and it can move its
reading head either to the left or to the right. As before, a computation is assumed to begin in a distinguished
initial state with the reading head over the leftmost symbol of the input string. We also assume that the tape
extends infinitely to the left and right and that all tape squares not occupied by symbols of the input string are
filled by a special “blank™ symbol #.

FafaRad 1 ue =R = feu 7wl & IR ST -

.. GRISI3A JHCTHE Ul I - Hebdl ¢ ol I Wared i &Hd1 8 W g, Sl [E GRedH Dife ol
A1 1 UHI YR g ol R & ST FH=Id Pl bR B Febdl ¢ | GIUHIHD Ll o Thd DI gl
DR IR S ¢ (iUl 10y T UA. SR 59 38 &1 & 11 WR) fored bl Hi dishany &1 o Sl §
3R 3 IfId TR IR WU Hgl Sl Yebel g |

3{IcIHe Bl ud pifedl B aig SR AL P e (G201 dTad & iy bl off Febell g ofl bl fdg IR
farg! Tiftra arqeumsfl § 4 ush 8 B, 3992 U 971f & 9 H ffgd gid1 8. 7did & R 399 [ H1ud
i aiftiferRad g g | auTit e =i 30 399e ¢U IR foRd Yehdl ¢ 3R 394 Ug Yohdl ¢ AR Tg
RITET &S &1 9l a1 ariY 3R o S Yhdll § | Ugd I avg g HIF Sl Udbdl ¢ v S0 (iR URiYE
T H 379 1 & el 91 dobd o HUR ST 58 I URH il & | gH U1 1l 711d ¢ b <1 ol fawdR
3RffErd w0 § arff 3R erft 3R SidT & ok 0 gt 20 WheR fSHR 3e R & Yha el 8, fagy
T Yhd # GRIHR BId ¢ |

The input processing capacity of the Turing Machine

1. assigns each symbol from the input to a square on the tape
2. assigns each symbol to the head for writing out
3. prints each symbol as the output
4. reads the string as a whole
1
(2) 2
(3) 3
(4) 4

IR A=A B g TIARET &

1. CU R G P 39YC Y YD Yebd HT&fed Hl |
2. @ & 101U g8 &I Ud® Yobd A& fed Hdl ¢
3. Udd Hobd Bl 3H3CYC & =4 H Hfgd Hdl g
4. TP gul EY Y ugdi gl

o 2

(3) 3

(4) 4

1[Option ID=17881]
2[Option ID=17882]
3[Option ID=17883]
4[Option ID=17884]
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Read the following passage carefully and answer the questions that follow:

.. a pushdown automaton can carry out computations which are beyond the capacity of a finite automaton,
which is perhaps the simplest sort of machine able to accept an infinte set of strings. At the other end of the scale
of computational power is the Turing machine (after the English mathematician A.M. Turing, who devised them),
which can carry out any set of operations which could reasonably be called a computation.

Like the previous classes of automata, a Turing Machine can be visualized as having a control box, which at
any point is in one of a finite number of states, an input tape marked off into squares with one symbol of the
input string being inscribed on each square, and a reading head which scans one square of the input tape at a
time. The Turing Machine, however, can write on its input tape as well as read from it, and it can move its
reading head either to the left or to the right. As before, a computation is assumed to begin in a distinguished
initial state with the reading head over the leftmost symbol of the input string. We also assume that the tape
extends infinitely to the left and right and that all tape squares not occupied by symbols of the input string are
filled by a special “blank™ symbol #.

FafaRad 1 ue =R = feu 7wl & IR ST -

.. GRISI3A JHCTHE Ul I - Hebdl ¢ ol I Wared i &Hd1 8 W g, Sl [E GRedH Dife ol
A1 1 UHI YR g ol R & ST FH=Id Pl bR B Febdl ¢ | GIUHIHD Ll o Thd DI gl
DR IR S ¢ (iUl 10y T UA. SR 59 38 &1 & 11 WR) fored bl Hi dishany &1 o Sl §
3R 3 IfId TR IR WU Hgl Sl Yebel g |

3{IcIHe Bl ud pifedl B aig SR AL P e (G201 dTad & iy bl off Febell g ofl bl fdg IR
farg! Tiftra arqeumsfl § 4 ush 8 B, 3992 U 971f & 9 H ffgd gid1 8. 7did & R 399 [ H1ud
i aiftiferRad g g | auTit e =i 30 399e ¢U IR foRd Yehdl ¢ 3R 394 Ug Yohdl ¢ AR Tg
RITET &S &1 9l a1 ariY 3R o S Yhdll § | Ugd I avg g HIF Sl Udbdl ¢ v S0 (iR URiYE
T H 379 1 & el 91 dobd o HUR ST 58 I URH il & | gH U1 1l 711d ¢ b <1 ol fawdR
3RffErd w0 § arff 3R erft 3R SidT & ok 0 gt 20 WheR fSHR 3e R & Yha el 8, fagy
T Yhd # GRIHR BId ¢ |

At a given point, a Turing Machine is in how many state/s?

1. in one state from a given finite set
2. in many states from a given finite set
3. in one state from an infinite set
4. in multiple deterministic states
1
(2) 2
(3) 3
(4) 4

f&Q 1Y fefg TR T #eiiA fohaeit sfaw/aii # gidl g°

1. [3U U I Ue 9 s Saedr |

2. TeU T i Ye 9 3 sfawurafi 4
3. AHIfHT 9e Y UH fari g

4. 3D AFYRUTHD el #

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=17885]
2[Option ID=17886]

3[Option ID=17887]
4[Option ID=17888]
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Read the following passage carefully and answer the questions that follow:

.. a pushdown automaton can carry out computations which are beyond the capacity of a finite automaton,
which is perhaps the simplest sort of machine able to accept an infinte set of strings. At the other end of the scale
of computational power is the Turing machine (after the English mathematician A.M. Turing, who devised them),
which can carry out any set of operations which could reasonably be called a computation.

Like the previous classes of automata, a Turing Machine can be visualized as having a control box, which at
any point is in one of a finite number of states, an input tape marked off into squares with one symbol of the
input string being inscribed on each square, and a reading head which scans one square of the input tape at a
time. The Turing Machine, however, can write on its input tape as well as read from it, and it can move its
reading head either to the left or to the right. As before, a computation is assumed to begin in a distinguished
initial state with the reading head over the leftmost symbol of the input string. We also assume that the tape
extends infinitely to the left and right and that all tape squares not occupied by symbols of the input string are
filled by a special “blank™ symbol #.

fafaiad o1 u¢ ok = feu 72wyl & IR IS -

.. RIST3 3{eiHe Ul TIUH dHR Yabd ¢ oil YITHd Ward- oI &Hdl 9 UR g, Sl Q6 WRAdH HIfc @l
A1 1 UHI UhR g Sl R & SiHd FH=Id Pl bR B Febdll ¢ | HIUMHIHD Rl o Thdd DI gl
DR IR S ¢ (Uil 10 T UA. SR 59 38 &1 & 11 WR) fored bl Hi dishany &1 o Sl §
3R 3 IfId TR IR WU Hgl Sl Yebel g |

3{IcIHe Bl ud pifedl B aig SR AL P e (G201 dTad & iy bl off Febell g ofl bl fdg IR
farg! Tiftra arqeumsfl § 4 ush 8 B, 3992 U 971f & 9 H ffgd gid1 8. 7did & R 399 [ H1ud
i aiftiferRad g g | auTit e =i 30 399e ¢U IR foRd Yehdl ¢ 3R 394 Ug Yohdl ¢ AR Tg
RITET &S &1 9l a1 ariY 3R o S Yhdll § | Ugd I avg g HIF Sl Udbdl ¢ v S0 (iR URiYE
T H 379 1 & el 91 dobd o HUR ST 58 I URH il & | gH U1 1l 711d ¢ b <1 ol fawdR
3RffErd w0 § arff 3R erft 3R SidT & ok 0 gt 20 WheR fSHR 3e R & Yha el 8, fagy
T Yhd # GRIHR BId ¢ |

In terms of computing capacity of automaton as discussed in the passage, which of the following is considered
superior?

1. Finte State Machine

2. Pushdown automaton
3. Finite automaton

4. Context free automaton
11

(2) 2

(3) 3

4) 4

é & ST g 9l B IS §, SATCTHRE & W0 &Fdl & Jay § MyfaRad § 9 SH-91 48 9ME1 Sl

1. TIfrd g A
2. GISI3T 3HicHeH
3. UIffd 3fleded
4. G5 gad fieried
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=17889]
2[Option ID=17890]
3[Option ID=17891]
4[Option ID=17892]
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Read the following passage carefully and answer the questions that follow:

... a pushdown automaton can carry out computations which are beyond the capacity of a finite automaton,
which is perhaps the simplest sort of machine able to accept an infinte set of strings. At the other end of the scale
of computational power is the Turing machine (after the English mathematician A.M. Turing, who devised them),
which can carry out any set of operations which could reasonably be called a computation.

Like the previous classes of automata, a Turing Machine can be visualized as having a control box, which at
any point is in one of a finite number of states, an input tape marked off into squares with one symbol of the
input string being inscribed on each square, and a reading head which scans one square of the input tape at a
time. The Turing Machine, however, can write on its input tape as well as read from it, and it can move its
reading head either to the left or to the right. As before, a computation is assumed to begin in a distinguished
initial state with the reading head over the leftmost symbol of the input string. We also assume that the tape
extends infinitely to the left and right and that all tape squares not occupied by symbols of the input string are
filled by a special “blank™ symbol #.

FafaRad 1 ue =R = feu 7wl & IR ST -

.. GRISI3A JHCTHE Ul I - Hebdl ¢ ol I Wared i &Hd1 8 W g, Sl [E GRedH Dife ol
A1 1 UHI YR g ol R & ST FH=Id Pl bR B Febdl ¢ | GIUHIHD Ll o Thd DI gl
DR IR S ¢ (iUl 10y T UA. SR 59 38 &1 & 11 WR) fored bl Hi dishany &1 o Sl §
3R 3 IfId TR IR WU Hgl Sl Yebel g |

3{IcIHe Bl ud pifedl B aig SR AL P e (G201 dTad & iy bl off Febell g ofl bl fdg IR
farg! Tiftra arqeumsfl § 4 ush 8 B, 3992 U 971f & 9 H ffgd gid1 8. 7did & R 399 [ H1ud
i aiftiferRad g g | auTit e =i 30 399e ¢U IR foRd Yehdl ¢ 3R 394 Ug Yohdl ¢ AR Tg
RITET &S &1 9l a1 ariY 3R o S Yhdll § | Ugd I avg g HIF Sl Udbdl ¢ v S0 (iR URiYE
T H 379 1 & el 91 dobd o HUR ST 58 I URH il & | gH U1 1l 711d ¢ b <1 ol fawdR
3RffErd w0 § arff 3R erft 3R SidT & ok 0 gt 20 WheR fSHR 3e R & Yha el 8, fagy
T Yhd # GRIHR BId ¢ |

What is a Turing Machine?

. a device which can carry out a set of computing operations
. a device which can read from but not write to a tape

. an artificially intelligent machine

. a device that can process natural languages

1

(2) 2

(3) 3

(4) 4

S AR A g

1. U U% fSarsy & ol T Gfgand a3 addl g
2. Ug U [Sa134 § Sl U ¥ Ug Jbdl § dib ¢4 UR ford gl Gbdi g |

3. 98 U PIH gfaHd A B
4. 78 U (&d139 ¢ Sl Widbide U1l Bl WshfHd HR Tabhdl ¢ |

1) 1
(2) 2
(3) 3
(4) 4

Ja s ba —

1[Option ID=17893]
2[Option ID=17894]
3[Option ID=17895]
4[Option ID=17896]
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Read the following passage carefully and answer the questions that follow:

.. a pushdown automaton can carry out computations which are beyond the capacity of a finite automaton,
which is perhaps the simplest sort of machine able to accept an infinte set of strings. At the other end of the scale
of computational power is the Turing machine (after the English mathematician A.M. Turing, who devised them),
which can carry out any set of operations which could reasonably be called a computation.

Like the previous classes of automata, a Turing Machine can be visualized as having a control box, which at
any point is in one of a finite number of states, an input tape marked off into squares with one symbol of the
input string being inscribed on each square, and a reading head which scans one square of the input tape at a
time. The Turing Machine, however, can write on its input tape as well as read from it, and it can move its
reading head either to the left or to the right. As before, a computation is assumed to begin in a distinguished
initial state with the reading head over the leftmost symbol of the input string. We also assume that the tape
extends infinitely to the left and right and that all tape squares not occupied by symbols of the input string are
filled by a special “blank™ symbol #.

fafaiad o1 u¢ ok = feu 72wyl & IR IS -

.. RIST3 3{eiHe Ul TIUH dHR Yabd ¢ oil YITHd Ward- oI &Hdl 9 UR g, Sl Q6 WRAdH HIfc @l
A1 1 UHI UhR g Sl R & SiHd FH=Id Pl bR B Febdll ¢ | HIUMHIHD Rl o Thdd DI gl
DR IR S ¢ (Uil 10 T UA. SR 59 38 &1 & 11 WR) fored bl Hi dishany &1 o Sl §
3R 3 IfId TR IR WU Hgl Sl Yebel g |

3{IcIHe Bl ud pifedl B aig SR AL P e (G201 dTad & iy bl off Febell g ofl bl fdg IR
farg! Tiftra arqeumsfl § 4 ush 8 B, 3992 U 971f & 9 H ffgd gid1 8. 7did & R 399 [ H1ud
i aiftiferRad g g | auTit e =i 30 399e ¢U IR foRd Yehdl ¢ 3R 394 Ug Yohdl ¢ AR Tg
RITET &S &1 9l a1 ariY 3R o S Yhdll § | Ugd I avg g HIF Sl Udbdl ¢ v S0 (iR URiYE
T H 379 1 & el 91 dobd o HUR ST 58 I URH il & | gH U1 1l 711d ¢ b <1 ol fawdR
3RffErd w0 § arff 3R erft 3R SidT & ok 0 gt 20 WheR fSHR 3e R & Yha el 8, fagy
T Yhd # GRIHR BId ¢ |

The author of Turing Machine is

1. a linguist
2. a computer scienfist
3. a mathematician
4. an engineer
1
(2) 2
(3) 3
(4) 4

[T HRiH BT Yol DI 6 -
1. TS afTi-e

2. DA AP
3. TR
4. ff¥Edr

1) 1

() 2

(3) 3

4) 4

1[Option ID=17897]
2[Option ID=17898]
3[Option ID=17899]
4[Option ID=17900]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%) of Job Vacancies
2 2010 2020
Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Numbai 10% 18%
Calcutta 4% 16%

afeRaa arferest 3 ad 2010 3R 2020 & SR A YR WG A4 AR, [, gaxars, 9o, 99,
OiEs SR Pladdl 8 sl 3 el Aol & Ridaal &1 ufawd faazor gwia man g 1 ay 2010 #iR
2020 & SR 57 W6 1 R &1 oo S a0 5.4 ORI 3R 8.6 TG © | 56 Alfeioe] H fGU Y
3PSl P SR TR UY BT IR GO ;

Fieial @1 Ridaal o1 wevar fGau
HiG Al ®I Rigadl &1
e IEERUNED)
D010 020
EEN [15% 2%
(sl D1%  [20%
%E?WE 10% 8%
U] 12% 6%
EEE 8% 10%
ey [10%  [i8%
HiadEE 4% [16%

What is the difference between the number of job vacancies available in Bangalore in the years 2020 and 2010

A

1. 108200
2.113120
3. 118400
4, 96400

(1)1

(2) 2

(3) 3

(4) 4

g 2020 3R 2010 ¥ SR | Sudsy Aol o1 Rigaal $1 9= § R fdr g 2

. 108200
. 113120
. 118400
. 96400
1) 1
) 2
(3) 3
(4) 4

b =

S )

1[Option ID=19501]
2[Option ID=19502]
3[Option ID=19503]
4[Option ID=19504]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%) of Job Vacancies
2 2010 2020
Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Numbai 10% 18%
Calcutta 4% 16%

afeRaa arferest 3 ad 2010 3R 2020 & SR A YR WG A4 AR, [, gaxars, 9o, 99,
OiEs SR Pladdl 8 sl 3 el Aol & Ridaal &1 ufawd faazor gwia man g 1 ay 2010 #iR
2020 & SR 57 W6 1 R &1 oo S a0 5.4 ORI 3R 8.6 TG © | 56 Alfeioe] H fGU Y
3PSl P SR TR UY BT IR GO ;

Fieial @1 Ridaal o1 wevar fGau
HiG Al ®I Rigadl &1
e IEERUNED)
D010 020
EEN [15% 2%
(sl 21%  |20%
%E?WE 10% 8%
U] 12% 6%
EEE 8% 10%
ey [10%  [i8%
HiadEE 4% [16%

What is the average of number of job vacancies available in Hyderabad in the years 2020 and 2010 ?

. 41080
. 42740
. 61400
. 62800
(1)1
(2) 2
3) 3
(4) 4

¥ 2020 3 2010 ¥ gx@1E # Iuas Aol B Rfdaal &1 sigd =1 ool g 2

B R B

1. 41080
2. 42740
3. 61400
4, 62800

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19505]
2[Option ID=19506]
3[Option ID=19507]
4[Option ID=19508]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%) of Job Vacancies
2 2010 2020
Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Numbai 10% 18%
Calcutta 4% 16%

At arferest 3 ad 2010 3R 2020 & IR A YR WG A4 AR, [, gaxErs, 9o, 99,
0rEs SR Bliaddl 8 Mgl 9 Halid Aol & Ridaal &1 ufawrd faazor gxia man g 1 ay 2010 #R
2020 P R 34 Wex] § Riqdl &1 $of 41 Tk 5.4 TRA 3R 8.6 916 © | 59 dlfaiel § §U 70
3PSl P SR TR UY BT IR gIioId ;

Fieial @1 Ridaal o1 wevar fGau
HiG Al ®I Rigadl &1
e IEERUNED)
D010 020
EEN [15% 2%
(sl 21%  |20%
%E?WE 10% 8%
U] 12% 6%
EEE 8% 10%
ey [10%  [i8%
HiadEE 4% [16%

What is the total number of job vacancies available in Chennai in 2010 and in Mumbai in 20207

. 1.92 lakh
. 1.98 lakh
. 2.04 lakh
. 2.16 lakh
(1)1
(2) 2
(3) 3
(4) 4

Ty 2010 & 95 3R a9 2020 & Tras 4 Suas Aie il o1 Ridadl @1 oo 9@ fea-i g 2

B R B

1.1.92 g
2. 1.98 ¥9
3.2.04 79
4. 2.16 Tl
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19509]
2[Option ID=19510]

3[Option ID=19511]
4[Option ID=19512]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%) of Job Vacancies
2 2010 2020
Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Numbai 10% 18%
Calcutta 4% 16%

afeRaa arferest 3 ad 2010 3R 2020 & SR A YR WG A4 AR, [, gaxars, 9o, 99,
OiEs SR Pladdl 8 sl 3 el Aol & Ridaal &1 ufawd faazor gwia man g 1 ay 2010 #iR
2020 & SR 57 W6 1 R &1 oo S a0 5.4 ORI 3R 8.6 TG © | 56 Alfeioe] H fGU Y
3PSl P SR TR UY BT IR GO ;

Fieial @1 Ridaal o1 wevar fGau
HiG Al ®I Rigadl &1
e IEERUNED)
D010 020
EEN [15% 2%
(sl 21%  |20%
%E?WE 10% 8%
U] 12% 6%
EEE 8% 10%
ey [10%  [i8%
HiadEE 4% [16%

If the number of vacancies in Pune is 48000 in the year 2020 and the percentage distribution is same as given
in the table, then what is the number of vacancies available in Delhi in 2020 ?

1.1.20 lakh
2.1.32 lakh
3.1.48 lakh
4, 1.60 lakh

(1)1

(2) 2

(3) 3

(4) 4

Tfe v 2020 T gor Rl 37 Wer 48000 § 3R 5701 Wi faaror 3 € @ S arferer & fear man
g, dray 2020 # faeet & Suae Rifdaal o demn feaiig 2

1. 1.20 TG
2.1.32¢M
3.1.48 W9
4. 1.60 ©g
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19513]
2[Option ID=19514]

3[Option ID=19515]
4[Option ID=19516]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%) of Job Vacancies
2 2010 2020
Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Numbai 10% 18%
Calcutta 4% 16%

afeRaa arferest 3 ad 2010 3R 2020 & SR A YR WG A4 AR, [, gaxars, 9o, 99,
OiEs SR Pladdl 8 sl 3 el Aol & Ridaal &1 ufawd faazor gwia man g 1 ay 2010 #iR
2020 & SR 57 W6 1 R &1 oo S a0 5.4 ORI 3R 8.6 TG © | 56 Alfeioe] H fGU Y
3PSl P SR TR UY BT IR GO ;

il @1 Ridaal o1 AevaR f&darur

HiG Al ®I Rigadl &1
e IEERUNED)
D010 2020
EEN [15% 2%
5] 21%  [20%
%E?WE 10% 8%
U] 12% 6%
EEE 8% 10%
ey [10%  [i8%
CARCAGIN L

What is the approximate percentage rise in job vacancies available in Hyderabad from year 2010 to 2020 7

.23.21%
. 24.52%
.26.24%
.27.41%
(1)1
) 2
(3) 3
(4) 4

Y 2010 T aY 2020 TP GaxIaTG H IUAs ARl I Ricddl & err fava wiawd 1 9fs g% 2

.23.21%
. 24.52%
. 26.24%
.27.41%
1) 1
(2) 2
3) 3
4) 4

B R B

=

ES )

1[Option ID=19517]
2[Option ID=19518]
3[Option ID=19519]
4[Option ID=19520]
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The current SWAYAM platform is developed by the Ministry of Education and NPTEL, IIT Madras with the
help of .

A. Infosys Ltd.

B. Google Inc.

€. TCS

D. HCL Ltd.

E. Persistent System Ltd.

Choose the correct answer from the options given below:

1. B and D only
2. C and E only
A and C only
.B and E only
1 1
2) 2
3) 3
(4) 4

9 § W0 (SWAYAM) 1 Wew™ 7 § I fargd Igan I e daray @ik tAdidisud (NPTEL).
RS (IIT) A5 GRIT AP RId a1 T g |

A SHIRN [Afds
B. T0Td 5.

C. o

D. TodIud fefes

E. Ui e Rren foifes
=1 fau Tt fas eyl & 9 Hel 3R &1 99 DI

1. $ad B AR D
2.%ad C ARE
3. Had AR C
4. PAAB IRE

1

() 2

3) 3

@) 4

4= L

1[Option ID=19521]
2[Option ID=19522]
3[Option ID=19523]
4[Option ID=19524]

Sl. No.107
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Match List I with List IT

LISTI LISTII
(Components) (Learning Theory)
A |Stimulus-Response I. |Cognitivism
B. [Networking II. |Constructivism
C. |Schemas III. [Behaviourism
D. [Reaszoning IV. |Connectivism

Choose the correct answer from the options given below:

. AL, B-II, C-IIL, D-IV
. AL B-IV, C-I, D-II
. A-IV, B-1, C-II, D-TII
. A-II, B-IV, C-III, D-I
(11
(2) 2
(3) 3
(4) 4

[ S

Y




Tail 191 gl 11 ¥ fHar Sifere

a1 ( -?Fﬁ'II ‘
I

(ICH)
A [FEIY-SHfhar REIREL
B. [Heafd 1. [See-mae
C. [eumE L |oagrarg
D. [ddar IV. [gaearg

Ffeiad [depedl © ¥ Hel 3R &1 95 Hifelu -

1. A-L, B-I1, C-II1, D-IV
2. AL, B-IV, C-1. D-I1
3. A-IV, B-I, C-II, D-TII
4. A-TI, B-IV, C-I1I, D-1

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=19525]

2[Option ID=19526]

3[Option ID=19527]
4[Option ID=19528]

Sl. No.108
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What does the letter R’ in instructional design model of teaching 'ASSURE' stand for?

1. Require Teacher Participation
2. Require Learner Participation
3. Require Society Participation
4. Require Parents Participation

1 1

@) 2

3) 3

(4) 4

TR0 B SFRTEIS SifidHed Alsd 'ASSURE' H 3i&R R’ frqds o oman g 2

1. TS UiaHIfiTar & SMeT Sravgddl
2. fferTEar ufquIfirar & smerrasgdwmdr
3. TS &1 iayier &f srawgddl
4. AT S UfaHIiTar &1 snawgddi

(1) 1

(2 2

(3) 3

4) 4

1[Option ID=19529]
2[Option ID=19530]
3[Option ID=19531]
4[Option ID=19532]

Sl. No.109
QBID:9201009

Given below are two statements:

Statement-I The basic function of exploratory case studies is to identify questions and select types of measurement before the main
mvestigation

Statement II: The basic function of cumulative case studies is to make unfamiliar familiar and to give readers a common language about
the topic in question.

In the light of the above statements. choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.
. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but statement IT 1s incorrect.
4. Statement I is incorrect but Statement IT is correct,
(1)1
(2) 2
(3) 3

b =




(4) 4

T S puafemmu &

DU 1 : GHARN GPROT (D) AT DT WIUFHS D1l T a0 o I g vl &1 Ffgd B 3R
70 & WHRI &1 989 HAT© |

FUF 11 : G U1 (F) HeqT-1 &1 MUfd H A B J1d B SR fOvanTd v & aR & ured!
¥ foT0 U qUH YIS Ve SR |

SR B & el 1, i< fau 77U faspedl ¥ ¥ gad 3ugad STk &1 99 Bifuid:

1, Y1 R 11 S Tl B
FHYF 1 R I EH Tad g

3. HYA 1 81 €, AT Y= 11 7Tad &
4. HUF 17T 8. AP YU 11 eI B

1) 1
(2) 2
(3) 3
(4) 4

=)

1[Option ID=19533]
2[Option ID=19534]
3[Option ID=19535]
4[Option ID=19536]

Sl. No.110
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Given below are two statements:

Statement-I SWAYAM Prabha is an initiative of the Ministry of Education.

Statement II: The DTH channels are using the INSAT-30 satellite for Program telecasts in SWAYAM Prabha.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I 1s false but Statement II is true.

(1) 1

(2) 2

(3) 3

(4) 4

Bl CRICACRRINES

PYF I : TG WHT (SWAYAM Prabha) 18T H100 31 U Ugd @ |

PYF 11 : DTH e W (SWAYAM) UHT & SRiHHI & TR & fo7E 378e-30 SUU8 $1 ST HL IR ©
|

IR HYA & e 1, 19 U T G T 3 98 I o1 999 Sl
1. YA SR I aHI T B
2. BY 1 IR 11 EHT S &
3. YT 1 9 &, A HYT 11 3TA 8l

4. PUT 1 HTA B, AT SUT 1 T B
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=19537]
2[Option ID=19538]

3[Option ID=19539]
4[Option ID=19540]
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Given below are two statements:

Statement-I The null hypothesis for testing of difference between means is generally stated as Ho: py # s,

where (u;) and (p,) are the population means of the two populations, respectively.

Statement [I: When samples happen to be small samples and population variances are not known but assumed
to be equal, Z-test is employed for testing the null hypothesis.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false,
. Statement I 1s false but Statement II is true.

(1) 1
(2) 2
(3) 3
(4) 4

T APy RE T E:

FYA 1 : AT P d1F AR & ULI&UT & o780 R IRS e 1 SHAR R 59 WK 3iiiedad a1 Srar s -
Ho : 1y # iy, 1y 3R i, & SIS & PUY: SHEST AT § |

HUF 11 : oG Uie SIe neesl €1 & 3R SIFReaT VR ¥ 814 & Wd 99 AH ol o 8, a6 I
IR & TR0 & R Z-9Xie01 3f vged fran s e |

SR HY & Adls H, = AT 7 faw el # I el SR &1 957 Difow:
1. PYTI RIS FA T
2. PYT1 AR I T 3ET B

3. BYT 1 9 g, A B 11 39d gl

L

4. PUF 1 ITT E. AT PUT I TA B
M 1
(2) 2
(3) 3
4) 4
1[Option ID=19541]
2[Option ID=19542]

3[Option ID=19543]
4[Option ID=19544]

Sl. No.112
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If a researcher wants to select a sample from a population such that each member in the population of interest
has an equal chance of being selected in the sample, the researcher is following:

. Quota sampling

. Convenience sampling
. Purposive sampling

. Random sampling

) 1

(2) 2

3) 3

(4) 4

Tfe U Tydal o @ uiaes &1 999 59 UPR J S 9184l & [ a6 oS § Ude I &l
yftes Tu= & IHH 3R Uik §idT &, 1 59 Y &1 widesf o+ Fafafia d S o-aig 2

1. BleT yfdad 9u
2. glauTeie wiaesl 99
3. FOISHE s 70
4. ArEfs® ufoes! 7a
1
@ 2
@) 3

R O




(4) 4

1[Option ID=19545]
2[Option ID=19546]
3[Option ID=19547]
4[Option ID=19548]

Sl. No.113
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In the context of bibliographies and footnotes researchers sometimes use the abbreviation 'tr' which means:

1. transit

2. transported
3. translated
4, transeript
1) 1

(2) 2

3) 3

4) 4

ety Tt SR ure; ferauft & Teaf #, it Meydal GEWER v &1 W B § o o B

1. YRdgd
arfed

Ffed
fdferfa

T

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19549]
2[Option ID=19550]

3[Option ID=19551]
4[Option ID=19552]

Sl. No.114
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Given below are two statements:

Statement-I Quantitative research is typically highly structured whereas in qualitative research, the approach is
invariably unstructured.

Statement II : Both quantitative and qualitative research are concerned with data reduction.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct but statement II is incorrect.
4. Statement I 1s incorrect but Statement II 1s correct.

(1) 1
(2) 2
3) 3
(4) 4

TS PR E:

FYA 1 : AR Wiy [Afrwa: sifere TR gl 5, Said e iy § ¥y SN FARgare &9 39
SERFT g |

FUA T : FTATHD SR UMD &1 UHR & 2N SHieps! & D0 § Hafd gid ¢ |
SWRIT Y & el H, i 3T T faedl & ¥ Had SUYH Stk B 99 DIOT:
1. FYA1 AR 11 &I H61 §
2. HYF 1 AR EH Taa &
3. BYT 1 Tel g, Ao HYF 11 Tad g |

4. PYF 17T ©, A PUT 1 Tl B

@ 1
() 2




3) 3
4) 4

1[Option ID=19553]
2[Option ID=19554]
3[Option ID=19555]
4[Option ID=19556]

SI. No.115
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A student commits Level 2 plagiarism while submitting thesis/dissertation. As per UGC regulations, the
student shall be :

1. Debarred from submitting a revised script for a period of one year.

2. Debarred from submitting a revised script for a period of 6 months

3. Asked to submit a revised script within a stipulated time period not exceeding one year,
4. Asked to submit a revised seript within a stipulated time period not exceeding 6 months.
1

2) 2

3) 3

(4) 4

Uo faendf fayfaencra srar smam & fafawi & 3rgR 3o iy ue/ery Wiy yey § Fifed 918 &
TR 2 BT IR T e | 9 T s siarfa faenf o1 <fsa frar e 2

1. % a8 $I fafd & oy Wenfed uigfoft o1 == ¥ afold &= idar e

2. 6 TG @1 3raftl & forg Senfira uigfaft s e 9 afold & fear s

3. 7% qu @1 3fafy & 3fex SFafd gHaTafy & SRl uigleld S S & Sel og |
4. 6 TIE 1 3{afY & e SaiYd FHAGTY H U Yig ey SH $- Bl Hgl S|

(1)1
) 2
(3) 3
(4) 4

1[Option ID=19557]
2[Option ID=19558]
3[Option ID=19559]
4[Option ID=19560]

Sl. No.116
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According to Pierre Bourdieu cultural capital, through communication is for:

. Political benefit
. Military benefit
. Trade benefit

S

4, Socio-cultural benefit

(4) 4

o §1fEY & IR, I & A1 & gigias 9ot € yifed ma giarg

1. ASHId® ary
2. Ty Emy
3. SR &Y
4. TSP IcdD AH
1) 1
@ 2
@) 3
) a

1[Option ID=19561]
2[Option ID=19562]
3[Option ID=19563]
4[Option ID=19564]

Sl. No.117
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Inter-personal communication is most often considered as :

1. Dyadic
2. Within oneself
3. Many-to-many
4. One-to-huge masses
1) 1
(2) 2
(3) 3
(4) 4

JaR-gufddd IO UTg: 39 30 H GHAT oAl © -
1. gD (STafs)
2. %04

3. 959 U 950 Bl 3R
4. U Y fq2rd S-aHgl Bl 3R
(1) 1
) 2
(3) 3
(4) 4
1[Option ID=19565]
2[Option ID=19566]

3[Option ID=19567]
4[Option ID=19568]

Sl. No.118
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The mechanical model of communication is characterised by:

A, Multiple-way flow
B. One-way flow

C. From one-to-many
D. Anonymity

E. Active audience.

Choose the most appropriate answer from the options given below:

1. A Band C only
2.B.Cand D only
3.C.,DandE only
4. A, Dand E only

(1) 1

) 2

3) 3

(4) 4

U9l & Tifde Aisd (Ufaeu) & fawdni g »

A. Sgfay-anff vars
B. U%-A7 yarg
C. T% 9 3% B 3R

D. 3T
E. Wi axic/4Iell
i fau e fawedl # ¥ gad Sugad SR &1 99 Bifoie:

1.PITA B3R C
2.%gd B, C AR D
3.%ad C,D 3ARE
4. %A A, D IR E

@ 1

) 2

(3) 3

@) 4

1[Option ID=19569]
2[Option ID=19570]
3[Option ID=19571]
4[Option ID=19572]




Sl. No.119

QBID:9201019
Given below are two statements: |
Statement I : In communication, semiotics has the objective of describing how meaning is generated.
Statement II: It is said that semiotics posits the meaning that is human construct of an observer.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4, Statement I is false but Statement II is true.

(1)1

(2) 2

(3) 3

(4) 4

EEEIEREI TR
DY 1 GUNUTH, Hobd a9 T 91 Ui B3 BT S5 6idl § 1 1 Y I g |
DY 11 : T8 Bl oIldl © 19 Hepd 131 I8 "I & 1o 31 [l Ve 31 aHa R g |
SIRIdd DU & el H, =< 4y 70 fawpedt # 9 ¥el SR o1 90+ Pifog:

1. FYF1 SR 11 &H T &
HY 1 AR I ST A E

3. PUT 1 A &, A DY 11 A B

[

4. DU T e, AT YT IT B
(1) 1
() 2
(3) 3
(4) 4
1[Option ID=19573]
2[Option ID=19574]

3[Option ID=19575]
4[Option ID=19576]

Sl. No.120
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Given below are two statements:

Statement [ : Communication has the power to define, persuade and inform issues and events to the people.
Statement [T: Communication cannot serve as a tool of demarcation among people.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4, Statement [ is false but Statement II is true.

(1)1

) 2

3) 3

(4) 4




4 @ Py fag e &

ggﬂ:r%l SO H N1 G Gefd gel ok gersi o1 Ryt S, Ius ok iad 31 31 9fed Fifgd
|

Y 11 . GOS0 ATl § Y% & U6 919- & &0 § Sa1 6] R JHdl ¢ |
SRITd HUF & i H, =i feT 7Y faeed| & J Hel IR BT 99 DI
1. YA SR I &H I B
2. B 1 R 11 §HT 3T T
3. Y1 9 g, Wi HYF 11 S 5

4. BYT AT ¢, AT dYT 1 TI 8
1) 1
2) 2
3) 3
(4) 4
1[Option ID=19577]
2[Option ID=19578]

3[Option ID=19579]
4[Option ID=19580]

Sl. No.121
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Two old cars are sold for Rs. 48,000 each. One is sold at a profit of 20% and another at a loss of 20%. Find the
net profit/loss percentage and the total amount of profit/loss.

1. 4% loss, Rs. 4,000 loss
2. 4% profit, Rs. 4,000 profit
3. 5% loss, Rs. 4,000 loss
4. 2% profit, Rs. 2,000 profit

(4) 4

& R BRI H Y U Bl 48000 T H &1 SIAT1 § | U DI 20% & &I WR &1 Il § 3R GO Bl
20% B IR 91 91d1 3 | Tl gU ATH/ETH Wia=Id &I auT A4/l & Hdl o R J1d Hitod |

1. 4% B, 4000 39T &1H

=
=

2

4. 2% Y, 2000 304 ATY
(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=19581]

2[Option ID=19582]

3[Option ID=19583]
4[Option ID=19584]

SI. No.122
QBID:9201022

If 101 term of an Arithmetic Progression (AP) series is 34 and the difference between any two consecutive
terms 1s 3. then find the first term of the series.

1. 16
2. 10
3.7
4.13
1) 1
) 2
(3) 3
(4) 4




713 fareit iR goft (udh) g 3§ 1081 UG 34 B 3R {51 & HHIId Ual & A9 3= 3 §, a4 &l &
UYUH Ug B J1d I |

.16
10
7
.13
1)1
(2) 2
(3) 3
(4) 4

e L b

1[Option ID=19585]
2[Option ID=19586]
3[Option ID=19587]
4[Option ID=19588]

Sl. No.123
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The average age of a committee of 10 members is 42 years. A member of age 53 retires and a new member of
age 45 years takes his place. What iz the average age of the new committee?

1. 39.5 years
2.41.2 years
3.38.2 years
4. 40.7 years

(1) 1

(2) 2

(3) 3

(4) 4

10 =i arel! st Wiifa 1 offgd o 42 ¥ § | U9 53 9 &1 o aTa 9ae] Haiad sial & 3R
TP VYT TP 45 TN & U U Ha GRI AT SIa1 § | 3@ 5 5 Siild &1 $i¥d 31 fha-i g 2

.305TY
41274
.38.2 T8
.40.7TY
1) 1
() 2
3) 3
@) 4

O

1[Option ID=19589]
2[Option ID=19590]
3[Option ID=19591]
4[Option ID=19592]

Sl. No.124
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Consider a two digit number, If the digits of this number are interchanged, the new number obtained is lesser
than the original number by 18. If the sum of the digits of the number is 12, then find the original number.

. 84
57
.48
1) 1
(2) 2
(3) 3
(4) 4

3l i 1 S IR faaR BIGT | 3fS 59 =1 & 3Pl & Sgdl-aaal B 4l ol 8, a9 1 W1 S
U5 B () T I 18 BH 61 S & | AFS WS & 31 BT aRT 12 7, 79 Usd B (e I J1d Diforg
|

Bl

da L




(4) 4

1[Option ID=19593]
2[Option ID=19594]
3[Option ID=19595]
4[Option ID=19596]

Sl. No.125
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In a certain coded language: (A) 'muj paa doda' means "bring me water' (B) 'paa jo toda' means 'water is life' ©
'To lin kota' means 'life and death'. Which of the following represents 'is’ in that coded language?

1. paa
2. kota
toda

3.
4. Jo
1) 1
(2) 2
(3) 3

(4) 4

Tl Ffad pegg v 4 -

—_

A. Muyj paa doda’ @I a3ref o i areR
B. 'paa jo toda' @1 314 TeR 59 ARH'
C. 'Jo lin kota' BT 3 AEH TUS Y

T Peas YN § Fafafed § 9 1 is B Fefd sxarg 2

aa
fota
oda
0

o

[

=+

3.
4,
(1) 1
) 2
(3) 3
(4) 4

—_

1[Option ID=19597]
2[Option ID=19598]
3[Option ID=19599]
4[Option ID=19600]

Sl. No.126
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"Ten milligrams of substance X was fed to ten mice. All of them died within two minutes. One could conclude.
This amount of substance is fatal to the average mouse". Which of the following statements regarding above
argument are true?

A Tt commits the fallacy of Hasty generalization.
B. It commits the fallacy of Irrelevant conclusion.
C. It is a strong inductive argument.
D. It is a weak deductive argument.

Choose the correct answer from the options given below:

1. Aonly
2. B and C only
3.Band D only
4. C only

(1) 1

(2) 2

(3) 3

(4) 4




"X ge1ef &1 10 FEreiiam 10 951 &1 faaman a1 | 3 9l <1 fiFe 8 IR | #1505 Fshy Hae 9@l o
%XW%@WW 3¥1a-39 © g1 & o b1ae 3 1" SWidd giad & ded & Fafafaa aH-a
FUTITE ?

A. 5H e amRieu S adbem § |
B. 399 vfaqicR ff& d1adam g |

C. T8 U® e ANHATHS gf © |

D. T8 U HHER FHes gfaa g |

4 fau e fawedl # ¥ gad Sugad SR 1 99 BifoIE:

1. Pad A
2. HAAB AR C
3. %ad B 3R D
4. ad C
)1
) 2
3) 3
(@) 4

1[Option ID=19601]
2[Option ID=19602]
3[Option ID=19603]
4[Option ID=19604]

Sl. No.127
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If the statement "all golf players are rich persons’ is given as true which of the following statements can be
inferred to be true ?

A. No golf players are rich persons.

B. Some golf players are rich persons.

C. Some rich persons are golf players.

D. Some golf players are not rich persons.

Choose the correct answer from the options given below:

1.B and D only
2. B and C only
3. Aand D only
4. C and D only

1)1

2) 2

(3) 3

4) 4

g1 Sy gl Tieh-Raars] e aafdd &' &1 ¥gl & & H a0 71 § e FafdiEd oH-91 dud 9d gH
F U AT o S IHar e |

A D1 ot iew faarst o=t oafaa T8 8 |
B. % % Aars! o+l dfad g |

C. T Yl e e f[garst g |

D. P e fGars! ol afd Tl ¢ |

i fu e fasedl & ¥ 9e SUEd SR 199 Bifog:

1. %ad B AR D
2. HAAB AR C
3.%ad A 3RD
4.%ad C AR D

1

() 2

@3) 3

@) 4

1[Option ID=19605]
2[Option ID=19606]
3[Option ID=19607]
4[Option ID=19608]

Sl. No.128
QBID:9201028




Which of the following statements is contradictory to the statement-" all dogs are friendly animals" ?

1. No dogs are friendly animals.
2. Some friendly animals are not dogs.
3. Some friendly animals are dogs.
4. Some dogs are not friendly animals.
1 1
(2) 2
3) 3
(4) 4

Fafarad o 9 & H-91 sy, "9 $d [H3ad STHaR 8" HY &1 MKl § 2

1. P13 o poT fipad TR TR |
2. 3% fiFad THR o9 T © |
3. 50 TAed TR $1 § |
4. 5% P (0ad IR 81 § |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19609]
2[Option ID=19610]

3[Option ID=19611]
4[Option ID=19612]
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Which of the following statements are logically equivalent ?

A. Some fishes are not amphibians,

B. Some fishes are amphibians.

C. Some fishes are non-amphibians.

D. Some non-amphibians are not non-fishes.

Choose the correct answer from the options given below:

1. Aand B only
2. A, Band C only
3.A, Cand D only
4, C and D only
11
(2) 2
3) 3
(4) 4

iR B1H-8 By Alfdd =0 3 9 § 2

A T8 Al SUTR S § |

B. $© HSladl UG E |

C. $B IS el IR-GUTR T |

D. % TR-JYTR, R-ASA T © |

i fau e fasedl & ¥ 9e SUEd SR 1 99 BifoL:

1. Had A IR B
2. HATA, B3R C
3.%ad A, C AR D
4.%Had C AR D

1

) 2

@3) 3

(@) 4

1[Option ID=19613]
2[Option ID=19614]
3[Option ID=19615]
4[Option ID=19616]
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"There is smoke on the distant hill. Since smoke is always accompanied by fire, the hill must have fire too."
Which of the terms corresponds to the Sadhya (major term) in the above argument according to classical
Indian school of Logic?

1. Hill
2. Fire
3. Smoke
4, Smoky hill
(1) 1
(2) 2
(3) 3
(4) 4

"o YA Tdd TR Yaii § | T SRl Yaif €I § 98T Wad M gidl &, Udd WX 3= g1 31T i gl
Eﬂ%ﬁ"%—'ﬂ?ﬁ YR QR A1 & SHR SUWRIe giad o FHifed & H-91 98 91ed (3 Us) &
TR B2

1. 7dd

3T

.yt

. YEH udd
1) 1

@ 2

(3) 3

(4) 4

= o k2

1[Option ID=19617]
2[Option ID=19618]
3[Option ID=19619]
4[Option ID=19620]
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A song stored on a CD is, on average, 4 MBytes in size, Amit wishes to transfer 4000 such songs onto a
memory stick. Estimate the minimum size of memory stick, in GB, that Amit will need to use.

.8GB
.16 GB
I2GB
.24 GB
1 1
(2) 2
(3) 3
(4) 4

TS IR HSIRE 11, SlI9a PR T 4 TETEE 811 & | 34d T 4000 Tl o1 H0R} fes & wFiaRd
B A5l & | ST Bt & 3ifid o1 1 arge ¥ 7ad 64 $eR ®f J0KI Red &1 9ai oA
DI SaRgHAT BT |

.8 T arRed
.16 TR a5y
32 aRey
247 aRey

1) 1
(2) 2
(3) 3
(4) 4

e L b

o A

1[Option ID=19621]
2[Option ID=19622]
3[Option ID=19623]
4[Option ID=19624]
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Which of the following statements are true ? 5G-enabled technology will soon replace 4G-enabled technology
for mobile communication worldwide. Potential advantages of 5-G enabled mobile technology include:

A. Greater interconnectivity for Internet of things
B. Greater download speeds

C. Less bandwidth

D. Greater end-to-end delay.

Choose the correct answer from the options given below:

1. Aand B only
2.B and C only
3. Cand D only
4, A and D only

1) 1

) 2

3) 3

4) 4

TraTsd YU & 18 [gyerd} TR W 4o gafdd Wit @i st wafifa st <ite S wfowifid
Fx 3t | soft gufla gega Tt & Syer ardl 8 FefafEa § T wnemr e g o

A. SeXe A 07 g iU {d-aia-iadl
B. SIS Pl 38 i

c. $H dsfdgy

D. T& RR U g RR d 31t fqam

< feu Y faw el 9 96l SR 31 997 BIfog:

1. $ad A IR B
2. HBAAB AR C
3.%ad ¢ 3D
4. %ad A R D

1

) 2

(3) 3

(@) 4

1[Option ID=19625]

2[Option ID=19626]

3[Option ID=19627]
4[Option ID=19628]

Sl. No.133
QBID:9201033

Given below are two statements: With reference to digital initiatives of Government of India.

Statement [ : BHIM is a payment app that lets you make simple, easy and quick transactions using Unified
Payments Interface (UPI)

Statement II: Courses delivered through SWAYAM platform are made available at minimal cost.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement I is true.

(1) 1

2) 2

(3) 3

(4) 4




YR INBR $1 3P Tgadaayl & Gy d sy feum e

DU 1 - STTSATETH () TP TH YT T 8 S SAT0! GHBIES THeq U0 (qUiss) BT Wi 3R IRa,
T SR 50 YHaER P Gdl © |

BY 1 : WG TIeBIH & AT J Yex UIsash A anTd W SUae € |
SRITd HUF & i H, =i feT 7Y faeed| & J Hel IR BT 99 DI
1. B 1 AR 11 &H I B

2. B 1 R 11 §HT 3T T

3. YA 1 9 g, Al DY 1T A &

4. BYT AT ¢, AT dYT 1 TI 8
1) 1
2) 2
3) 3
(4) 4
1[Option ID=19629]
2[Option ID=19630]

3[Option ID=19631]
4[Option ID=19632]
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Which one of the following acronyms is matched incorrectly with its full form?

1. BIOS - Basic Input/Output system
2. PDA - Personal Digital Authentication
3. GUI - Graphical User Interface
4. WWW - World Wide Web
11
2) 2
3) 3
4) 4

frafafaa & 9 B 91 Sfénd A omm @ 9 § Tt e 3 8 e g 2

1. dleMg 3ivy - 9 e/ 33eye Ren
2. U810 - g faoieq amdifedem
3. SIgaiTs - e d JoR gexthy
4, 5o S &Y - O¢ algs a8
) 1
() 2
3) 3
) a

1[Option ID=19633]
2[Option ID=19634]
3[Option ID=19635]
4[Option ID=19636]

Sl. No.135
QBID:9201035

Identify the correct order of the following terms A-D to complete the sentences given below about digital still

and video cameras: Cameras that handle a higher number of will be able to capture more details than
those with a lower number. Images that are stored in a format have not been processed and will take up
more storage space than images that are stored in a format. The of your storage device determines

how many images you can store.

A, JPEG

B. Raw

C. Megapixels
D. Capacity.

Choose the correct answer from the options given below:

1
2

= Bl




fSoiled [ea iR difsal TR & day § 9 arel &1 g1 & & U Hafaiad 9l A-D & 951 3 H
P UgdH BT :

DI IR T DI YUITH TTd PHR 30 HH G- dral & qo-1 § iferes fgawor v 7
o | UR=T H HeINg Sfaal o1 usHH 6l [Gar T e 3R g uR=T § Heifva sfag
DI a1 H 3iferd USRI RIFE A | 319% USRI SUSHRUT ST Feiied dear g f& sma fea-
BIqYl BT HSRU B Gl |

A, Sdigst

B. 3RUSS
C. Fmfuadd

D. &0l
14 fau e faoedl § 9 9ol 3R &1 984 DI

o e
BEPO
Fop=
s
nound

(1)1
(2) 2
3) 3
(4) 4
1[Option ID=19637]
2[Option ID=19638]

3[Option ID=19639]
4[Option ID=19640]
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Given below are two statements:

Statement-I United Nations General Assembly declared 2010 as International Year of Biodiversity.
Statement IT : 2010 was also the target vear to achieve the halt in the decline of biodiversity.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but statement II 1s incorrect.
4, Statement [ is incorrect but Statement II is correct.
(1)1
(2) 2
(3) 3
(4) 4

= Ay g
DU T : GG Y DI HGRIHT A G 2010 DI SIRAY Y oid fafaerar aw giftd fopar o |
HUF I : 2010 T8 Aiad a9 o o1 R S fafqeran & gra o favm &t wrd s=ar n |
SWRIT Y & el H, i 3T 7 faeedl & ¥ 9ad SUad Stk B 99 DIoIT:
1. FYF1 SR 11 &l E61 §
2. B 1 AR EH Taa &
3. BYT 1 Tel g, Afted HYF 11 Tad g

4. HYF 170 &, A1 HYF 11 9l &
1
() 2
(3) 3
4) 4




1[Option ID=19641]
2[Option ID=19642]
3[Option ID=19643]
4[Option ID=19644]
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Given below are two statements:

Statement-I Vision of International Solar Alliance; Every home no matter how far away, will have a light at
home.

Statement IT : Mission of International Solar Alliance; Let us together make sun brighter,
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but statement II 1s incorrect.
4. Statement I is incorrect but Statement II is correct,
(1)1
(2) 2
(3) 3
(4) 4

9 & Py fRg U &
HUA T : AR YR A BT 2P0 (faer): Uds WR H, de a8 fdban1 1t g g1, WebT= 8l |
HYF 11 : SIRRIPTT TR A 1 = 59 1a ot = gl &l 3R 3ifve ifcmE o |
SWRIT Y & el H, i 3T 7 faeedl & ¥ 9ad SUad Stk B 99 DIoIT:

1. FYF1 SR 11 &l E61 §

2. B 1 AR EH Taa &

3. BYT 1 Tel g, Afted HYF 11 Tad g

4. HYF 170 &, A1 HYF 11 9l &
1
(2) 2
(3) 3
4) 4

1[Option ID=19645]
2[Option ID=19646]
3[Option ID=19647]
4[Option ID=19648]

Sl. No.138
QBID:9201038

Full form of IPCC, a nodal agency in the context of climate change, is:

1. Intergovernmental Policy on Climate change
2. Intergovernmental Panel on Climate Change
3. International Policy on Climate Change
4. International Panel on Climate Change

(1) 1

@) 2

3) 3

4) 4

Farg uRadd & et TP Sad Tudl SEURR ST R A Fa i S SH g
1. edTa-Hed iferd! 319 gamgdc v

2. EeUgHHed UAd 319 Faghe oo
3. SexAYAT Il 3H FasHe 99
4. SEAYHA U 34 FASHE Tol

)1

() 2

(3) 3

(@) 4




1[Option ID=19649]
2[Option ID=19650]
3[Option ID=19651]
4[Option ID=19652]
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Which of the following different sized particulate matters are required for the determination of Air Quality
Index (AQI) in India?

A. PMI1 (Particulate Matter Size equal or less than 1 micron)

B. PM 2.5 (Particulate matter size equal or less than 2.5 micron)
C. PM 10 (Particulate matter size equal or less than 10 micron)
D. TSPM (Total Suspended Particulate Matters)

Choose the most appropriate answer from the options given below:

1. A and B only
2.B and C only
3. Aand C only
4. B, C and D only
(1) 1
@) 2
3) 3
4) 4

YR B 1Y UG gIBHI1 (AQT) & HuRur & ey 4 § ¥ i 1R aTd $H-%1H 3§ iU ugrf
B SHTTRIHA Bl § 2

A. PMI (1 OIS PR T & I1 SR & BT garef)
B.PM2.5 (2.5 HIS®H PR Y HH U1 §R6R & ST Tere)
C. PM10 (10 HISHTH PR Y HH I1 §RIER & BB gare)
D. TSPM (§@ Wafad S g

=it feu Y fepedl © § 494 SUgH IR 1 90 BT

1. Had A IR B

2. HAAB AR C

3. PaTAARC

4. %adB, C ARD
1 1
) 2
3) 3
(@) 4
1[Option ID=19653]
2[Option ID=19654]

3[Option ID=19655]
4[Option ID=19656]
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Given below are two statements:

Statement-I Most of the world's geothermal sites are located in the circum pacific belt known as 'rim of fire'.
Statement II : Himalayan geothermal fields in India are also part of 'rim of fire',

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement [ is cotrect but statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.
1) 1
(2) 2
(3) 3
(4) 4




AT R E:
FU 1 oy F e yarda we T 3ife BraR % w0 5 90 oR-id ug H eafua § |
U 11 : HRA H [GHTer Hardi &7 1t R st BrR &1 4§ |
IRIF FUA & AP H, Aid [SU T e § U Tad IUgdd 30 &1 994 Il
1. PYA AR I &HI TRl gl
2. BYA SR 11 &H1 Tad g
3. YA 1 Hel ©, Aidh DY 11 714 ¢ |
4. BYF 170 &, A1 HYT 11 98! &

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=19657]
2[Option ID=19658]
3[Option ID=19659]
4[Option ID=19660]
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In order to enhance interaction and promote mutual understanding between people of different states/UTS including university students
'Ek Bharat, Shreshtha Bharat' scheme launched by Hon'ble Prime Minister

1. Shri Narendra Modi
2. Late Shri Atal Bihari Vajpayee
3. Manmohan Singh
4, Late Shri Chandra Shekhar
(1)1
(2) 2
(3) 3
4) a
Tl =t SR =iy ven & arn (S § [yfaenea & o= 1 2t §) & a9 siafha ser
AR SATORY THFER] P 96141 & & [0 T YR 94 YR dio-] & YH3M1d Hafiiad TF-g ger=est
= foar -

1[Option ID=19661]
2[Option ID=19662]
3[Option ID=19663]
4[Option ID=19664]
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Given below are two statements:

Statement [ : By 2040, all higher education institutions (HEIs) shall aim to become multidisciplinary
institutions and shall aim to have larger student enrolments, as per NEP2020 recommendations.

Statement [I: As per NEP 2020 recommendation, the aim will be to increase the Gross enrolment Ratio in
higher education including vocational education from 26.3% (2018) to 50% by 2030,

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I 1s false but Statement II 1s true.

1) 1

|




() 2
3) 3
(4) 4

T puFfRu e

FYA L : 75 [R1&7 A1, 2020 Bt SRS &S SFTAR T 2040 96 T AR Rigror Tl (Wa3.9013)
&I SgIAYaS GRIF &1 P1 T80 TG SR SR GEcR B HiD- B 068 IG1 8T |

PUAII : T IR I, 2020, BT SR S AR, ACHNID 187 Aled S=IaR K141 T T AHIHA
SUTd Bl 26.3% (2018) T TGTDHR T 2030 TP 50% B DI AT GHIT |

TRIE YA & dle H, A 3y 70 faeped! § § Hel 3T’ o1 904 S
1. B SR I &H T B
2. B 1 AR GHI A G
3. YA 19 . Afch PUA 11 3AA B

4. BY AT ¢, AT dYT 1 FI ¢l
1) 1
2) 2
(3) 3
(@) 4
1[Option ID=19665]
2[Option ID=19666]

3[Option ID=19667]
4[Option ID=19668]
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In 1904, Curzon wanted to bring which of the following changes in some of the existing universities through
the enactment of Indian Universities Act ?

A. An enlargement of the functions of the universities

B. A reduction in the size of the university senates

C. The introduction of the principle of election to the senate

D. An increase in the size of the university senates

E. Stricter conditions for the affiliation of colleges to a university.

Choose the most appropriate answer from the options given below:

1. A, CandE only
2.A B,CandE only
3.A.C.DandE only
4, A, CandD only

(1) 1

(2) 2

3) 3

(4) 4

T 1004 B, YR fayfaemea Sefifam & sfifaa gRI, $oiF $© dobrai ayfdaredl 3
g gfgd o e ol -

A Taxyfaee & sl &1 43-[ERuRad

B. fayfaeera di-e it & 3MeR § gerdd!

c. e & g1a & Risrd &1 dad

D. fayfdeer - & oR H gfs

E. foylaaner 4 PTaioll &1 Gl B dl B1 HOR &

i fSu U f9shetl O § Ha¥ JUgad SR 1 94 BIfoft:

1.%4dd A, C 3R E
2. Pad A, B.C. IR E
3. $AAA, C, D IRE
4. Had A, C. 3R D
)1
() 2
(3) 3




(4) 4

1[Option ID=19669]
2[Option ID=19670]
3[Option ID=19671]
4[Option ID=19672]
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Given below are two statements:

Statement-I Indian Council of Philosophical Research (ICPR), was established in 2000 by the University
Grants Commission (UGC) as an autonomous organization.

Statement II : Mahatma Gandhi National Council of Rural Education (MGNCRE) formerly National Council
of Rural Institutes (NCRI) was established in 1995 as a registered autonomous society in Hyderabad.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement I are incorrect.
3. Statement I is correct but statement IT is incorrect.
4, Statement [ is incorrect but Statement II is correct.
(1)1
@) 2
3) 3
(4) 4

T puFfRu e

FYA I : YRR SRS SR URE (375,91 0L.31R.) BT R 8 2010 H fayfaemed e Sman
@) GRS T $6A & g HI 16 of |

HUF I : §EXaTE H § 1005 T Tgredt i gt amdor fRign aRwg (@0 ol.ea ek 5.), 9d T gy
TTHIT SR RS (UH.91.311R.3(T1S.) BT RG] US Yoligd Wiad argel & &9 8 &1 78 of |

SR $Y & Al 1, 1= Gy 7y fded! & 9 998 Iugad SR &1 994 BIfog:
1. YA SR I & Fei gl
2. BYF SR 11 &H1 Tad g
3. Y1 el 6, Wi HY 11710 § |
4. YT 17TAd &, A1 HYT 11 el &

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=19673]
2[Option ID=19674]
3[Option ID=19675]
4[Option ID=19676]
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Given below are two statements:

Statement-I National Board of Accrediation (NBA) was established by UGC.

Statement II : National Assessment and Accreditation Council (NAAC) was established by AICTE.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but statement II 1s incorrect.
4. Statement I is incorrect but Statement II is correct.
(1)1
(2) 2
3) 3
(4) 4




- Ay fag e e:
HYUA L : AP YA 1S (T80, BT R G5, GRIPI TR o |
U 11 : AAPTY SHTHT 3R YA YRS (8L ) Bl RIUA1 U315 1 815, (AICTE) gRI 1715 f |
SWRIE U & el H, - 3T 7 faedl & U Gad SUgad Stk B 99 DITOIT:
1. B 1 AR T &H FRl 8
2. HYF 1 AR 11 &HI a4 5
3. Y1 R 8, Afh YA 11 7T &
4. BYF 170 &, A1 HYT 11 98! &

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=19677]
2[Option ID=19678]
3[Option ID=19679]
4[Option ID=19680]
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Read the following passage and answer the question:

Ideally. scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
‘We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer, Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.

g T 1 Ui SR Uy &1 3R aiforg

HTERIT: AT 3 IHRI B § (shy HaTad ¢ foFd SR 8 3 9Fd ¢ 1 d 9 § | 3a18R0 & &4
¥, 7fe &1 914 € 9 Yo 9RqU US §3R &1 (RediB 01 & PR ST PRl 8, T9 595 SHER g8
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Given below are two statements:

Statement I : The fact that an apple will fall to the ground when it releases from the tree, is an example of
deductive reasoning.

Statement [I; Most important scientific discoveries are made only because of sound reasoning of the
investigators.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement [ is true but Statement I is false.
4. Statement I 1s false but Statement II is true.

1 1

(2) 2

(3) 3

(4) 4

TR APyl
DY : T8 A IS Teb11 P1 FaT6RVI § 1 g4 J P IR He Sl o= TR |
FY 11 : Faliie Hgadqul a1 @iot Sl dlsi $I (A4 (319) dh1 P PRIl gl uTdi § |
SWRITd DY & 3l H, =id feu 74 faeed| & d Hel SR D1 99 DI
1. B 1 AR 11 &H A E
2. FYA1 AR I GHT ST

3. ®YT 1 T B, e HYA 11 3TI 8l

4. BYT1 AT ¢, Al YT 1 TA B
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=19681]
2[Option ID=19682]

3[Option ID=19683]
4[Option ID=19684]
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Read the following passage and answer the question:

Ideally. scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reagoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer, Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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Given below are two statements:

Statement [ : The inference that birds migrate seasonally is an example of deductive reasoning.
Statement II: Deductive reasoning is always correct.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

(1)1

) 2

3) 3

(4) 4
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1[Option ID=19685]
2[Option ID=19686]
3[Option ID=19687]
4[Option ID=19688]

Sl. No.148
QBID:9201048 _
Read the following passage and answer the question:

Ideally. scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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Which among the following play a role in achieving success in research ?

A. Reasoning
B. Insight
C.Luck

Choose the most appropriate answer from the options given below:

1. Aand B only
2. B and C only
3. Aand C only
4, A Band C

1

(2) 2

3) 3

(4) 4
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(2) 2
3) 3
(4) 4
1[Option ID=19689]
2[Option ID=19690]

3[Option ID=19691]
4[Option ID=19692]

Sl. No.149
QBID:9201049 )
Read the following passage and answer the question:

Ideally. scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific 1s known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
‘We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer, Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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Given below are two statements: One 1s labelled as Assertion A and the other is labelled as Reason R.

Assertion-A: We often rely on inductive reasoning in our day-to-day life.
Reason-R: Inductive reasoning is more sound logically as compared to deductive reasoning,
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is not the correct explanation of A.
. A is correct but R is not correct.

. A is not correct but R is correct.

(1) 1

@) 2

3) 3

(4) 4
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1[Option ID=19693]
2[Option ID=19694]
3[Option ID=19695]
4[Option ID=19696]

Sl. No.150
QBID:9201050 .
Read the following passage and answer the question:

Ideally. scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific 1s known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems, We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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According to the passage, some of the scientists were able to make important discoveries primarily because of
their :

A. Passionate interest in the subject
B. Superior scientific method
C. Objective detachment.

Choose the correct answer from the options given below:

. Aonly

. B and C only
. Aand B only
A, Band C
1 1

(2) 2

3) 3

4) 4
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